6’-8” MPDS OXO and XX Door Units
Non-Impact Lab Drawings

Installation
¢ Windload Assembly Procedural Guide 050217 p.A-11 — Anchor Detail
Door System

¢ Windload Assembly Procedural Guide 050217 p.A-2 — Double Door
Windload Assembly Procedural Guide 050217 p.A-4 — Single Door w/Sidelites
P-FSJ-409-RNP-1-68 — Inswing FrameSaver RH Blank Jamb
P-FSJ-409-LNP-1-68 — Inswing FrameSaver LH Blank Jamb
P-FSJ-409-RNP-0-68 — Outswing FrameSaver RH Blank Jamb
P-FSJ-409-LNP-0-68 — Outswing FrameSaver LH Blank Jamb
P-FSJ-409-RHP-0-68 — Outswing FrameSaver RH Hinge Jamb
P-FSJ-409-LHP-0-68 — Outswing FrameSaver LH Hinge Jamb
FIMH-409-303030 — Fingerjointed Wood Header OXO

e FJHD-409-60 — Fingerjointed Wood Header XX

e (2031231 rev A p. 1-3 — Articulating Cap Inswing Threshold

e (2030805 rev B p. 1-3 — Z-Series Outswing Threshold

e  P-FSM-409-RHP-1-68 — Inswing FrameSaver RH Hinge Mull Post

¢ P-FSM-409-RSP-1-68 — Inswing FrameSaver RH Strike Mull Post

e  P-FSM-409-LHP-0-68 — Outswing FrameSaver LH Hinge Mull Post

¢ P-FSM-409-LSP-0-68 — Outswing FrameSaver LH Strike Mull Post

Opaque and Lip-Lite Glazed Door Panel

e (2030367 rev F—Top Rail

e RWO03-00119 rev E - Composite Bottom Rail

e (2030386 rev G — Stiles

e (2030318 rev D — Lock Block

e A1020319 rev D p. 1-2 — Insulated Glass AMERICAN TEST LAB NORTH
e SBP-LF-0003 rev A p. 1-2 — Injection Molded Lite Frame DATE11/30/23

Flush Glazed Door Panel REPORT NO. ATLNC 0504.01-23

e A1020163 rev H p. 1-11 — Panel Assembly ) {{Q/Vb [ ( /Mm

e (2030367 rev F—Top Rail

e (2030330 rev F p. 2 of 3 — Composite Bottom Rail ATL INSPECTOR
e (2030387 rev M p. 1-2 ~Stiles

e RW10-00008 rev M — Lock Block

e A1020319 rev D p. 1-2 — Insulated Glass


atli
0504.01-23


Windload Assembly Procedural Guide

STRUCTURAL PERFORMANCE ANCHOR DETAIL

i 6 3 i GL 3 5
|——lr$p, & ek e S . N YR _ITYP_L_‘ &
! I ! : tr ]y ! N\ YR ¢ ! talar v | vp
RN | o 1T 1 N AT e | ]
8" ! B'8"UNIT  8'0" UNIT §'8TUNIT  8'0°UNIT
?38-1 g/"ﬂi[ 8107“-%';!1 | 13-19/18° e = 5/1faAX|MU|1W7-1/8
| MAXIMUM
B e | B - ON'CENTER v, — || A|—  oNCENTERTYR, _|L.
/ SEE NOTE #2 / SEE NOTE #2 / SEE NOTE #2
I N T I IRAIR ! " 1 1 vl 1"
v T ' 1 i t ¥ [} 1 te vt v
X X X X o
Minimum Fastener Count astener Co Minimum Fastener Count
» 2 per horizontal framing member « 8 per hon g member « 7 per horizontal framing member
* 6 per vertical framing member « 6 per vertical framing member « 6 per vertical framing member
See notes for additiongldefal See notes for additional detail See notes for additional detail
CL 6" 3 6"
w6 TYP.L—'J VP, TYP.L.I -
A=t b H REER s vt b v gy
. AN ] CIfrt i e 1_|||
) . 6'8"UNIT  8'0" UNIT
o ShAE Tone oA
MAXIMUM
onhéé)rs%g%n e <= ON CENTER TYP. .| |
AMERICAN TIEST LAB NORTH
(. DATIE11/30/23 -t

REPORT NO. |JATLNC 0504.01-23

SEE NOTE #2

orafrs I RN I rfe
ot o1 ¢ ' Ty ot v R

9] X X 0o
Minimum Fastener Count

58 * 16 per horizontal framing member
* 6 per vertical framing member  § per vertical framing member
See notes for additional detail See notes for additional detail

NOTES:

1. Cylindrical and deadbolt hardware required at 5-1/2" centerline for 6'8" and smatler and 10-}/2" centerline for door heights greater than 6'8”. Evaluated with Kwikset Series 400 {atch and Series 980 deadbott.
2. Fasteners analyzed for this unit include #10 wood screws (1-1/2" embedment) or 3/16” Tapcons (1-1/4" embedment).

3. Two #10 x 2-1/2 screws required through each hinge on the vertical jamb or mullion.

4, Two #8 x 2" screws required through each strike plate.

5. Wood bucks by others, must be anchored properly to transfer loads to the structure,

6. Rough opening to accommodate no greater than 1/4” shim space.

2017 - Rev. 050217
Our Zontinuing program of product mp-ovemaent makes specifications
design and product detail subect to change without notice I MAS O N I I I-
.

A


atli
Oval

atli
Oval

atli
0504.01-23


Windload Assembly Procedural Guide

XX UNIT WITH DOUBLE DOOR

UNIT

TYPICAL HINGE ATTACHMENT Pl HEADER &
Ut JAMB ATTACHMENT
FINGER-JOMTED KLY DRY WO0D

TRAMEBEADER (1-/4° K 4-8/%6"
WITk 2 ST0P HEGHT AL

GRADE 4 OR BETTER
CANSI/NHMA A6 T)
FULL MORTISE HGE

]

16" CROWR

2}
mmmmmmmm LATCHIGLOCATIONS.
ATTACHWITH 58 X I* FLAT HEAD SCREWS

,,,,,,
- .

108E ADOED
R DURING ISTALLATION
SEE WSTALLATION DETAX.

NI K S pOP B PP AO | P
HEAD W00 S(RE} N ] A [
PLEASE KOTE: 1 H
.
FOR ) :

STEEL EDGE DOORS

(3) HIR 7" HEIGHT
OR SHALLER

o+ ORRBBGHS
’ GREATER THAN 7O*

TYPICAL THRESHOLD & [
SIDE JAMB ATTACHMENT

e AMERICAN TEST LAB NORTH
LT S e DATE11/30/23
REPORT NO. ATLNC 0504.01-23

m 7 (e

WSS ATL INSPECTOR

THRESHOLD PROFRLES
& I A LA

NPMMM mmm WMM)

2017 - Rcv 05017

Our Zantinuing p-ogram of praduct Mp-ovament makes specifications r 1

design lnd nrod et detadt subject to change without notice. I A N E
.

A2


atli
Oval

atli
Oval

atli
Oval

atli
Oval

atli
Oval

atli
0504.01-23


Windload Assembly Procedural Guide

UNIT WITH SINGLE DOOR & TWO SIDELITES

[CHULLION ATTACHMENT

RE&
B ATTACHMENT

FINGER-JOIKTED 10K DRY WOOD
FRAME HEADER (HA™ X 4-97%"
WATH V2" STOP HEKGHT MRS

CIT 10X
L mﬂ/
WIRE STAPLES

T0BE ADDED . s L
b DURIIG ICSTALLATION - 0 - el
SEEMSTALLATION DETAL e i-.. s X K 14
tee’ s, . K Lo V7 ST0P ey
WRXX AN 2 . O § Y *f
WOOD SCREWS seet H H
REASEMOTE: F03 7" , ] :
RACHRE SCREWS FOR . K
SECTION A-A
TYPICAL THRESHOLD & .+ () FOR 70" HEIGHT TYPICAL SIDE JAMB &
MULLION ATTACHMENT .+ ORSMALLER SIDELITE PANEL
o () FORHEIGHTS ATTACHMENT KOG
LAMKATED LOMBER g GREATER THAN 70"
MOLLIOK (VT X 4-5/8° G FINGER-ONTED
WITH /2" SROP HEIGH) o | O Wﬂﬂm
— o xm [
: ] 3 A woun ",
%, K ‘ } SOELITE PANEL
(3) 40 X 7" FLAT HEAD WODD SCREWS CUTSMING UMITS ."._ [
] e, R — L
(30410 X 2:47" FAT HEAD WOOO SCREWS INSWING UNETS . Mo o
*e WODD SCREWS. LOCATE 67 ATARED Wil
e FROM EACH CORNER A0 W™ 35 GAJGE PN S
el oL ;'xgm%m
] 0 b o omETeC
SU*0L N
YERTIOL

TYPHCAL THRESHOLD &

SIDE JAMB ATTACHMENT -
Spe—— SECTIONB-B
A P TYPICAL THRESHOLD &

SIDELITE PAKEL ATTACHHENT

== (1) $10 X 57 PRAT HEAD WOOD SCR

Wi oL Rl
TYPICAL THRESHOLD PROFILES et
Endura Inswing ZA) unmum MMMMD& unm-m
Awninrn Adjastable Rweshold

AMERICAN TEST LAB NORTH
DATE11/30/23
REPORT NO. ATLNC 0504.01-23

2017 - Rev 050217
Our Zontinung program of product mprovemant makes spacificatiars
design and product detal subject 10 changs without notice.

N1 MASONITE.

A4

ATL INSPECTOR


atli
Oval

atli
Oval

atli
Oval

atli
Oval

atli
Oval

atli
0504.01-23


[81 15/16"]
81.938in

AMERICAN TEST LAB NORTH
DATE11/30/23
REPORT NO. ATLNC 0504.01-23

ATL INSPECTOR

DETAIL T
SCALE1:4

OETAIL J
SCALE1:4

[15r16"]
.938in

_ tasel NOTES:
BACKOUT DETAIL NOT SHOWN (DIMENSION
127] (2 1/84] NOT CRITICAL}
5001 2.125in i STANDARD F1J PINE
41N, FRAMESAVER
[orez] STANDARD OFF-WHITE
-094in STANDARD SINGLE COAT

,[\

INSERT BEIGE - PE 650
TRIM WEATHERSTRIP

FULL PACKAGE QTY : 128/ 256

ENTERED BY

BJackson
SPEC NUMBER
STANDARD TOLERANCES: JM206103
(UNLESS OTHERVWSE 3PEC|F|ED)
TABLE IS IN INCHES' CUSTOMER NAME
DIMENSION | 1ot ERANCE Approved Masonite Intl-West Chicago
PROFILE | &.015625 03/31/23 SECONDARY CUSTOMER NAME
CUTLENGTH| s .03125
MORTISING | 20015625 CUSTOMER ITEM NUMBER
WORTISING : W
PLACEMENT | 0-03125 P-FSJ-409-RNP-l-68
‘WOOO PARTS a8 7 5
DATE' 51812000

DATE
s BEEndura
’RODUCTS, I N C
SRUSNES, e
CUSTOMER ID A .ENDURAPRODUCTS L
00013599 T
CUSTOMER ID JAMB LEG

LEFT HAND BLANK

3


atli
Oval

atli
Oval

atli
Oval

atli
0504.01-23


AMERICAN TEST LAB NORTH
DATE11/30/23 .
REPORTNO. ATLNC 0504.01-23 S

H ot

ATL INSPECTOR

DETAIL J
SCALE1:4

[15M6"]
938in

[8115/16")
£1.938in

[49/16"] .
fo———————— 4563 NOTES:
B [2 18] [172°] BACKOUT DETAIL NOT SHOWN
™ .500in (DIMENSION NOT CRITICAL)

STANDARD F/AJ PINE
4 IN. FRAMESAVER

STANDARD QFF-WHITE
STANDARD SINGLE COAT

INSERT BEIGE - PE 650
TRIM WEATHERSTRIP

FULL PACKAGE QTY : 128/256

t———A 2125in - - i
( {3132")
I R.0%4in

11 7i32")
1.220in

(79 314"
79.750in

ENTERED BY DATE
BJackson 03/31/2023 Endura
SPEC NUMBER

PRODUCTS, I NC,

A JM206104
STANDARD TOLERANCES: 8817 W. MARKET ST. COLFAX, NC 27235
(UNLESS OTHERWISE SPECIFIED) ! PHONE:(336) 668-2472 FAX{336) 663-4478
TABLE I8 IN INCHES | CUSTOMER NAME CUSTOMER ID  ENDURAPRODUCTS.COM
DIMENSION [ o1 erace Approved Masonite Intl-West Chicago 00013599 tme JAMB LEG
* SECONDARY CUSTOMER NAME CUSTOMER ID
AR e 03/31/23 RIGHT HAND BLANK
CUT LENGTH 2 .03125
MORTISING $0.015825 CUSTOMER [TEM NUMBER
SORTSG | 000125 P-FSJ-409-LNP-68 T
WOOD PARTS 8 7 5 4 3 2 9

DATE; 5/8/2009


atli
Oval

atli
Oval

atli
Oval

atli
0504.01-23


[81 1/8"]
81.125in

DATE: 5/8/2008

Al STANDARD TOLERANCES:
{UNLESS OTHERWISE SPECIFIED)
TABLE IS IN INCHES
DIMENSION | 101 eraNCE Approved
TYPE
PROFILE + 015625 03/31 /23
CUTLENGTH| ¢ .03125
MORTISING | :0.016625
R Tane. | s0.03125
WOOD PARTS 8 7

AMERICAN TEST LAB NORTH
DATE11/30/23
REPORT NO. ATLNC 0504.01-23

ATL INSPECTOR

{4 9186")
4.563in -
[1124] [2 187
.500in I 2.125n i
[3/32"]
R.094in :
- [17/327]
1.220in
ENTERED BY DATE

{1147
1.2500

DETAILT
SCALE1:4

NOTES:

BACKOUT DETAIL NOT SHOWN (CIMENSION
NOT CRITICAL)

STANDARD F/J PINE
4 IN. FRAMESAVER

STANDARD OFF-WHITE
STANDARD SINGLE COAT

INSERT BEIGE - PE 650
TRIM WEATHERSTRIP

FULL PACKAGE QTY . 1287256

BJackson 03/31/2023 g
SPEC NUMBER
FROD U cT S, I N C.

JM206107 p——

aB17 ET ST. COLFAX, NC 27235
| CUSTOMER NAME CUSTOMER ID PHONE (336 “’gﬁgﬁwmwcﬁmg’,ﬁ’ 663-4478
Masonite Intl-West Chicago 00013599 Tm.e JAMB LEG
SECONDARY CUSTOMER NAME CUSTOMER ID

LEFT HAND BLANK

P-FSJ-409-RNP-0-68 WA I
4 3

B


atli
Oval

atli
Oval

atli
Oval

atli
0504.01-23


B
79 78"
79.8751
DO,
ST
1
f
A STANDARD TOLERANCES:
(UNLESS OTHERWISE SPECIFIED)
TABLE IS IN INCHES
DIMENSION | 1o ERaNCE Approved
PROFILE £ 015625 03/31/23
CUTLENGTH| » 03125
MORTISING | 10015625
ORTaG | s0.03128
WOOD PARTS B 7

DATE: 5/8/2009

AMERICAN TEST LAB NORTH
DATE11/30/23

11441
1.250in

REPORT NO. ATLNC 0504.01-23

ATL INSPECTOR

{49167]
4.563in

| (142"

(2 & 50007

|-— 2.125in ——=f
13/32"]
! R.094in
] J

11 7/32°]
1.220in

ENTERED BY DATE

BJackson 03/31/2023 g E:n dl ]ra

SPEC NUMBER PRODUCTS, I NC.

JM206109 8817 W. MARKET ST, COLFAX, NC 27235

CUSTOMER NAME CUSTOMER ID P o ENDORAPRODUCT SN 4478

Masonite intl-West Chicago 00013599 Tim.e JAMB LEG
CUSTOMER ID

SECONDARY CUSTOMER NAME RIGHT HAND BLANK

CUSTOMER ITEM NUMBER

P-FSJ-409-LNP-0-68

3

DETAIL T
SCALE 1 4

NOTES:

BACKOUT DETAIL NOT SHOWN B
(DIMENSION NOT CRITICAL)

STANDARD F/J PINE
4 IN. FRAMESAVER

STANDARD OFF-WHITE
STANDARD SINGLE COAT

INSERT BEIGE - PE 650
TRIM WEATHERSTRIP

FULL PACKAGE QTY 128/256


atli
Oval

atli
Oval

atli
Oval

atli
0504.01-23


>

68 7116")
68.438in
| \

—

[6 116"]
6.083in

(31 3m6"]
31,188in

{3131867]
31.188in

75 718"
9 87510

JOP

181 18]
81.125in

STANDARD TOLERANCES:
(UNLESS OTHERWISE SPECIFIED)
TABLE IS IN INCHES

DIMENSION
TYPE

TOLERANCE

PROFILE

+ 015825

CUT LENGTH

+ 03125

MORTISING

£0.015625

MORTISING
PLACEMENT

+0.03125

WOOD PARTS
DATE: 51812009

8

Approved
03/31/23

SCALE1 8

[3/32°)

SECTION F-F
SCALE1 4

[1718")
1.438in

14 9116"]
4.563in
[12"] [21/8"}
.500in 2.125in —i

[3132")
R.094in

| C

*‘rJ

{1732
1.220in

|

ENTERED BY

BJackson 03/31/2023
SPEC NUMBER

JM206118

CUSTOMER NAME CUSTOMER ID
Masonite Intl-West Chicago

SECONDARY CUSTOMER NAME CUSTOMER D

CUSTOMER ITEM NUMBER

P-FSJ-409-RHP-0-68

00013599 e

3 |2 1

AMERICAN TEST LAB NORTH
DATE11/30/23
REPORT NO. ATLNC 0504.01-23

Yo

ATL INSPECTOR

DETAILT
SCALE 1 4

NOTES:

NQOT CRITICAL)

STANDARD F/J PINE
4 IN, FRAMESAVER

STANDARD OFF-WHITE
STANDARD SINGLE COAT

HINGE BACKSET PIN - 0.8375
HINGE TOS TO TOH PIN - 3.75
HINGE 1 TO 2 CENTER PIN - 4.1875
HINGE 2 TO 3 CENTER PIN - 41875

INSERT BEIGE - PE 650
TRIM WEATHERSTRIP

FULL PACKAGE QTY : 1287256

FPRODUCTS, I NC.

8817 W. MARKET ST.
36) 668-2472

PHONE;(SV&VW

. ENDURAPRODUCTS.COM

COLFAX, NC 27235
FAX:(336) 663-4478

JAMB LEG
RIGHT HAND HINGE

LT

BACKQUT DETAIL NOT SHOWN (GIMENSION

B


atli
Oval

atli
Oval

atli
Oval

atli
Oval

atli
Oval

atli
0504.01-23


(6 1116]
6.063in

T

(31 316"
31.188in

81 1/8") { [T
81.125in

[31 3'/18"]
31 188in

{37 114"
37.250in

{687/16"]
68.438in

STANDARD TOLERANCES:
(I.INLESS OTHERWISE SPECIFIED)
TABLE IS IN INCHES
DIMENSION
ez | TOLERANCE
PROFILE | «.015625
CUTLENGTH| +.03125
MORTISING | 0.015625
MORTISING
PLACEMENT | :0:03125

WOOD PARTS 8
DATE; 5/8/2008

Approved
03/31/23

4 3 |2

AMERICAN TEST LAB NORTH
DATE11/30/23
REPORT NO. ATLNC 0504.01-23

[17716"]
1.438in

ATL INSPECTOR

[5/8"]
R.625in

DETAIL B o
SCALE1 8 {114"]

1.250in

DETAIL T

(3652°] SCALE1 4

7/7) .094in/|1r

{4 916"

SECTION F-F
SCALE1 4

NOTES:

4.563in

BACKOUT DETAIL NOT SHOWN
(DIMENSION NOT CRITICAL)

STANDARD F/J PINE
4 IN. FRAMESAVER

(2 1787 (/2]

[1732")
1.220in

R.084in STANDARD OFF-WHITE

STANDARD SINGLE COAT

HINGE BACKSET PIN - 0.9375
HINGE TOS TO TOH PIN - 3,75
HINGE 1 TO 2 CENTER PIN - 4.1875

] [3132"]

-
'-—— 2.125in T -500in
,] 1

ENTERED BY
BJackson
SPEC NUMBER
JM206117
CUSTOMER NAME

~ Masonite Intl-West Chicago
SECONDARY CUSTOMER NAME

CUSTOMER ITEM NUMBER

P-FSJ-409-LHP-0-68

HINGE 2 TO 3 CENTER PIN - 4.1875

INSERT BEIGE - PE 650
TRIM WEATHERSTRIP

FULL PACKAGE QTY : 128/ 256

DATE
03/31/2023 ! dllra
FRODUCTS, I NC,
BRLMNELS, ey
SUSTOMERIID NN ENDORAPRODUCTS COM
CUSTOMER ID

LEFT HAND HINGE

3


atli
Oval

atli
Oval

atli
Oval

atli
Oval

atli
Oval

atli
0504.01-23


D
o [73718") B
T 73.438in
[3531/32") 35 31732 [25 31732 |

- 35.969in - r- — 35.968In ————————————— — —————— 35.,969in - —

| Pansl 1 {11727] A anel 2 Panel 3

| 1:5001n TYE: | |- Active Panel ) |
c

AMERICAN TEST LAB NORTH
DATE11/30/23
REPORT NO. ATLNC 0504.01-23

al eth U NOTES:
ATLINSPECTOR R o™
STANDARD F/J PINE

STANDARD OFF-WHITE
STANDARD SINGLE COAT

INSERT BEIGE - PE 650
INSERT INTG PANEL 2
TRIM WEATHERSTRIP

FULL PACKAGE QTY - 128/ 256

[2 18]
2,125in |

[1/2)

|
-

(4 9118"]
——— 4.563iIn
DATE
= s SEENdUra
SPEC NUMBER
A FRODUCTS, | NC,
STANDARD TOLERANCES: JM206151 8817 W. MARKET ST. COLFAX, NC 27235
TABLE IS IN INCHES A d CUSTOMER NAME CUSTOMER ID PHONE"BWVMSG?%SWRODUJ%’? éao:ﬁ’ BT
DIMENSION
TENSION | ToLERANCE pprove Masonite Intl-West Chicago 00013599 Tme HEADER DETAIL
PROFILE +.015625 03’31’23 SECONDARY CUSTOMER NAME CUSTOMER (D
CUTLENGTH| s .03125
MORTISING | :0.015625 CUSTOMER ITEM NUMBER |mlm“m"il““lm'
PIACEMENT | 2003125 FJMH-409-303030
e Sarston 8 7 5 4 3 2 1


atli
Oval

atli
Oval

atli
0504.01-23


[72 15132%) \ S

72.468n \-

(3132"]

R.084in

AMERICAN TEST LAB NORTH
DATE11/30/23
REPORT NO. ATLNC 0504.01-23

[2 18"
2,125

[12°]
.500in

1

ATL INSPECTOR NOTES:

BACKOUT DETAIL NOT SHOWN
(DIMENSION NOT CRITICAL)

STANDARD F/J PINE

C

]

[1.22in}
1.220in

STANDARD OFF-WHITE
STANDARD SINGLE COAT

INSERT BEIGE - PE 650

i TRIM WEATHERSTRIP

Al STANDARD TOLERANCES:
(UNLESS OTHERWISE SPECIFIED)
TABLE IS IN INCHES

DIMENSION
peo | ToLERANCE
PROFILE | = .015625
CUTLENGTH| s .03125
MORTISING | +0.015625
MORTISING
PLAGEMENT | :0.03125
WOOD PARTS 8
DATE: 518/2000

FULL PACKAGE QTY : 128/ 256

|

{4 916"
4.563in —

ENTERED BY DATE

BJackson 03/31/2023 qEndura

SEECNUMEER FPRODUCTS, | NC,

JM206100 B817 W, MARKET ST. GOLFAX, NG 27235

Approved CUSTOMER NAME CUSTOMER ID PHONE:(am?EZJgaWRODU&gé%ﬁ) bl
Masonite Intl-West Chicago 00013599 Time
03I31I23 SECONDARY CUSTOMER NAME CUSTOMER ID H EADE R DETAI L
CUSTOMER ITEM NUMBER
FJHD-409-60 RN
7 5 4 3 2 1


atli
Oval

atli
Oval

atli
0504.01-23


AMERICAN TEST LAB NORTH
DATE11/30/23
REPORT NO. ATLNC 0504.01-23

REVISION HISTORY
REV DESCRIPTION PCR__ [DRAWN BY] DATE | APPROVED
A R EL EASFD | 653/813 | ET | 08/05/2021 | SM

o, (e

\

/ A
2.000 14.000\
/ [355.60] B [355.60] '\
1.516 1516
[38.50] [38.50]
‘\\
\; =— — =— ——— — —

\_THRESHOLD GASKET INSTALLED
(2x)

Gﬁ' r
| H( 1813 2109
¥ [46.04) [53-58]
e
5.625
T [142.86)
TION A-A

SECTION B-B
RETRACTED HEIGHT

NOTE:

1. SILLTO HAVE LINEAL SUBSTRATE FOR ABILITY TO CUT DOWN

2. DIMENSIONS IN BRACKETS [XX] INDICATE METRIC mm DIMENSIONS
3. SYMBOL{C)INDICATES CRITICAL DIMENSION

CONFIDENTIAL PROPERTY OF MASONITE PRINTED DRAWING MAY NOT BE MOST RECENT VERSION

 5.5/2" CONFINUOUSTARTICULATING SILL WITH SUBSTRATE

1.639
{41.63]

D |

SECTION B-B
NON-RETRACT

FRACTION + 1/32"
TOLERANCES UNLESS DECIMAL £ .031°

OTHERWISE NOTED ARE: ANGLE + 1°

i1 MAsSONITE

DRAWING DESIGN AND OTHER DISCLOSURES ARE
THE PROPERTY OF MASONITE DOOR CORPORATION.
UNAUTHORIZED USE, MANUFACTURE OR REPRODUCTION
{IN WHOLE OR N PART) IS PROHIBITED.

C2031231



atli
Oval

atli
Oval

atli
0504.01-23


AMERICAN TEST LAB NORTH
DATE11/30/23
REPORT NO. ATLNC 0504.01-23

Vit (ren - _

[367.01]

14.449 =

617

lh ‘+‘+~~\‘_‘ ?.180

| [@4.56]
THRU ALL

4.792
[121.71] T
2.370
[60.20] |
L
|
14.135
[359.03}
DETAIL C
(2 PLACES)
" 5.5/8" CONTINUOUS ARTICULATING SILL WITH SUBSTRATE
NOTE: ToLERaNCES UNLESs  FEACHEON ® L
1. DIMENSIONS IN BRACKETS [XX] INDICATE METRIC mm DIMENSIONS. OTHERWISE NOTEDARE: _ ANGLE £ 1°
2. SYMBOL(C) INDICATES CRITICAL DIMENSION. m1 MASONITE. | | guume e s omer oisciosuies ane
UNAUTHORIZED USE, MANUFACTURE OR REPRODUCTION C2031231
CONFIDENTIAL PROPERTY OF MASONITE PRINTED DRAWING MAY NOT BE MOST RECENT VERSION {IN WHOLE OR IN PART} IS PROHIBITED.



atli
Oval

atli
Oval

atli
0504.01-23


AMERICAN TEST LAB NORTH
DATE11/30/23
REPORT NO. ATLNC 0504.01-23

ATL INSPECTOR

Part Number Description A B
232273019.00 1/2-2/8-1/2 X 5-5/8 I/S BLACK CAP ARTICULATING SILL MILL FINISH W/SUB 63.000 {1600.20] 31.969 [812.01]
232273020.00 1/2-3/0-1/2 X 5-5/8 I/S BLACK CAP ARTICULATING SILL MILL FINISH W/SUB 67.000 [1701.80] 35.969 [913.61

232283019.00 1/2-2/8-1/2 X 5-5/8 I/S BLACK CAP ARTICULATING SILL BRONZE FINISH W/SUB 63.000 [1600.20] 31.969 [812.01
232283020.00 1/2-3/0-1/2 X 5-5/8 I/S BLACK CAP ARTICULATING SILL BRONZE FINISH W/SUB 67.000 [1701.80] 35.969 [913.61

NOTE:
1. DIMENSIONS IN BRACKETS [XX] INDICATE METRIC mm DIMENSIONS.
2. SYMBOL{C)INDICATES CRITICAL DIMENSION.

g 5-5/8" CONTINUOUS ARTICULATING SILL WITH SUBSTRATE

FRACTION % 1/32“
TOLERANCES UNLESS n |
OTHERWISE NOTED ARE: 25(2%!};.031 T SlAE DATE
MASONITE B —L2/10/2021
| . STAWNG

CONFIDENTIAL PROPERTY OF MASONITE PRINTED DRAWING MAY NOT BE MOST RECENT VERSION €2031231



atli
0504.01-23


REVISION HISTORY s
REV]  DESCRIPTION PCR |DRWBY| DATE |CHKBY
A RELEASE 9769 | EVT | 03/09/18 | BK
T~ OVERALL WIDTH DIM
L REVISED, SILL NAME
| ® | GiasenTo so1 | EVT | 110819 | BK
™ Z-SERIES .
AMERICAN TEST LAB NORTH
DATE11/30/23

REPORT NO. ATLNC 0504.01-23

Vo (e

ATL INSPECTOR

=" PART# SIZE DML L ALUMINIUM COVER & CAP FINISH DESCRIPTION
/7 23161526.000 2/6 | 30.000 [762.00] MILL & WOODGRAIN 2/6X4-9/16Z SIHL
23162526.000 2/6 | 30.000 [762.00] BRONZE & WOODGRAIN 2/6X4-9/162Z SIL
23163526.000 2/6 | 30.000 [762.00] MILL & BLACK 2/6X459/162 SHL
23164526.000 2/6__| 30.000 [762.00] BRONZE & BLACK 2/6X 4-9/162 SILL
23161528.000 2/8 | 32000 [812.50] MILL & WOODGRAIN 3/AX4-9/162 SILL
73162528.000 2/ | 32.000 [812.80] BRONZE & WOODGRAIN 2/8X49/162 SIlL
A JUM COVER 23163528.000 28 | 32.000 [812.80] MILL & BLACK 2/8X4-9/162 SILL
23164528.000 28 |32.000 [812.80] BROMZE BLACK 2/BX4-9/162 SIIL
3/0__ | 36.000 [914.40] MILL & WOODGRAIN 3/DX49/162 SiL
4.560 30 | 36.000 [914.40) BRONZE & WOODGRAIN 3/0X4-9/162 SAL
115.82] 23163530.000 30 | 36.000 [914.40) MILL & BLACK 3/0X45/162 SIL
[115. 23164530.000 3/0 | 36.000 [914.40) BRONZE BLACK 3/0X49/162 SILL
23161572.000 6/0  [72.500 [1841.50) MILL & WOODGRAIN 6/0% 4-9/16 2SILL
23162572.000 6/0  [12.500 [1841.50) BRONZE & WOODGRAIN 6/0%4-9/16 ZSILL
\ 23163572.000 6/0 (72,500 [1841.50] MILL & BLACK 6/0X4-9/16 ZSILL
23164572.000 6/0  [72.500 (1841.50) BRONZE BLACK 60X 4-9/16 ZSILL

OTE:

1] SUBSTRATE TO BE CONTINUOUS AND FASTENED IN PLACE. CAVITY SUBSTRATE

WITH SOLID BLOCKS (MIN 3") ON ENDS 1S ACCEPTABLE ON SILLS 36" AND SMALLER.

. BRONZE WEATHER-STRIP AND MATCHING SIDELITE PANELS SPACERS TO BE
INSTALLED WHERE APPLICABLE.

3. SYMBOL @ INDICATES CRITICAL DIMENSION

4. DIMENSIONS IN BRACKETS [XX] INDICATE METRIC mm DIMENSIONS

1.350
[34.29]

TITLE: 7.SERIES OUTSWING BUMPER SILL o [rev: '

SECTION A-A ke | ?RAM _

TOLERANCES UNLESS FRACTION + 1/32° NT: 0112318 EVT

CONFIDENTIAL OTHERWISE NOTEDARE:  DECIMAL 031 SHEETS
PROPERTY OF MASONITE M ASON'TE DRV DEsial A6 OTHER DiscLosuREs e |o - O.| SHEET: 1 OF 3
R . » | THE PROPERTY OF MASONITE DOOR CORPORATION, [DRAWING NO.:
. ) UNAUTHORIZED USE, MANUFACTURE OR REPRO- C2030805
IF PRINTED MAY NOT BE MOST RECENT 1'ERSION DUGTION, IN WHOLE OR IN PART, IS PROHIBITED.



atli
Oval

atli
Oval

atli
0504.01-23


B — . 163.50] —

FJV— TYP (2)
B
!—>
f i
2.435
[61.85]
| | /] -
“~
SIDELITE
— PANEL SPA
L= 500
B[1270] — o |a ¢ ]
TYP (2)

4.560

[115.82]

e

SECTION-B-B

CONFIDENTIAL
PROPERTY OF MASONITE

IF PRINTED MAY NOT BE MOST RECENT VERSION

DATE11/30/23

ATL INSPECTOR

AMERICAN TEST LAB NORTH

REPORT NO. ATLNC 0504.01-23

Vo i (ore

TIE Z7.SERIES OUTSWING BUMPER SILL

REV:

B

1171 MASONITE.

TOLERANCES UNLESS FRACTION £ 1/32°
OTHERWISE NOTED ARE: DECIMAL + 031"
' ANGLE 1°

DRAWING DESIGN AND OTHER DISCLOSURES ARE
THE PROPERTY OF MASONITE DOOR CORPORATION.
UNAUTHORIZED USE, MANUFACTURE OR REPRO-
DUCTION, IN WHOLE OR IN PART, IS PROHIBITED.

NTS

DRAWN:
01/23/18

DRAWN BY:
EVT

SHEET
size: B

SHEET. 2 OF 3

DRAWING N

C

O.:

2030805

{2)



atli
Oval

atli
Oval

atli
0504.01-23


AMERICAN TEST LAB NORTH

DATE11/30/23

REPORT NO. ATLNC 0504.01-23

f ot

ATL INSPECTOR

1 /
/ P
/
” d

PART # DIM. A DIM.B DIM. C ALUMINUM CAP & CAP FINISH DESCRIPTION
231613023.00 59.000 [1498.60] 11.500 29210} | 31.000 [787.40} MILL & WOODGRAIN 1/0-2/8-1/0 X 4-9/16 Z SILL W/ SUB
231623023.00 55.000 [1498.60] 11500 [292.10) | 31.000 [787.40) BRONZE 8 WOODGRAIN 1/0-2/8-1/0 X 4-0/16 Z SILL W/ SUB
231633023.00 59.000 [1498.60] 11.500 [292.10) | 31.000 [787.40) MILL & BLACK 1/0-2/8-1/0 X 4-0/16 Z SILL W/ SUB
231643023.00 59.000 [1498.60] 11500 [292.10) | 31.000 [787.40) BRONZE & BLACK 1/0-2/8-1/0 X 4-5/16 2 SILL W/ SUB
231613014.00 63.000 [1600.20] 11.500 [292.10) | 35.000 [889.00) MILL & WOODGRAIN 1/0-3/0-1/0 X 4-9/16 Z SILL W/ SUB
231623014.00 63.000 [1600.20] 11.500 [292.10) | 35.000 [889.00) BRONZE & WOODGRAIN 1/0-3/0-1/0 X 4-9/16 Z SILL W/ SUB
231633014.00 63.000 [1600.20] 11.500 [202.10] | 35.000 [889.00] MILL & BLACK 1/0-3/0-1/0 X 4-9/16 Z SILL W/ SUB
231643014.00 63.000 [1600.20) 11500 [292.10] | 35.000 [885.00] BRONZE & BLACK 1/0-3/0-1/0 X 4-9/16 Z SILL W/ SUB
231613019.00 63.000 [1600.20} 13.500 [342.90] | 31.000 [787.40) MiILL & WOODGRAIN 1/2-2/8-1/2 x 4-9/16 Z SILL W/ SUB
231623019.00 £3.000 [1600.20] 13.500 [342.90] | 31.000 [787.40] BRONZE & WOODGRAIN 1/2-2/8-1/2 X 4-9/16 Z SILL W/ 5UB
231633019.00 63.000 [1600.20} 13.500 [342.90] | 31.000 [787.40] MILL & BLACK 1/2-2/8-1/2 X 4-9/16 Z SILL W/ 5UB
231643019.00 £3.000 [1600.20] 13.500 [242.90] | 31.000 [787.40] BRONZE & BLACK 1/2-2/8-1/2 x 49/16 Z SILL W/ SUB
231613020.00 67.000 [1701.80] 13.500 [342.90] | 35.000 [889.00] MILL & WOODGRAIN 1/2-3/0-1/2 X 4-9/16 Z SILLW/ SUB
231623020.00 67.000 [1701.80] 13.500 [342.90] | 35.000 [889.00] BRONZE & WOODGRAIN 1/2-3/0-1/2 X 4-9/16 2 SILL W/ SUB
231633020.00 67.000 [1701.80] 13.500 [342.90] 35.000 [889.00] MILL & BLACK 1/2-3/0-1/2 X 4-9/16 Z SILL W/ SUB
231643020.00 67.000 [1701.80] 13.500 [342.90] 35.000 (889.00] BRONZE & BLACK 1/2-3/0-1/2 X 4-9/16 Z SILL W/ SUB
TIMLE: 7.SERIES OUTSWING BUMPER SILL Bl S B
976!
SCALE: DRAWN: DRAWN BY:
TOLERANCES UNLESS FRACTION # 1/32" NTS | ouzang  EVT
OTHERWISE NOTED ARE: gsg'l_“gi‘f 031 SHEET
sizE: B | SHEET: 3 OF 3
MASON I T E DRAWING DESIGN AND OTHER DISCLOSURES ARE
e | THE PROPERTY OF MASONITE DOOR CORPORATION, |DPRAWING NO.:
UNAUTHORIZED USE, MANUFACTURE OR REPRO- C2030805
DUCTION, IN WHOLE OR IN PART, 1S PROHIBITED.



atli
0504.01-23


[68/16")
6.563in
D
{37 2a"]
| 37.750in
c '

68 15/18"

o

[31318")
31.188in

(31 316"
31 188in

STANDARD TOLERANCES;
{UNLESS OTHERWISE SPECIFIED)
TABLE IS N INCHES
DIMENSION
TYPE TOLERANCE
PROFILE £ .015625
CUTLENGTH| +.03125
MORTISING | +0.015625
—
MORTISING
PLAGEMENT £0.03125
WOOD PARTS 8
DATE: 5/8/2009

{80 21132}
80.656in

L17116"]
1.438in

[518"]

DETAIL B

R 624

SECTION C-C
SCALE1:8

{4 9/16]
4.583in

172°) [2187)
.500in 2.125in

[3/32")
R.094in
(1721
_500in \
\_ [3324]
ENTERED BY DATE
BJackson 03/31/2023
SPEC NUMBER
ML206153
CUSTOMER NAME CUSTOMER ID 1 g
Masonite Intl-West Chicago 00013599
SECONDARY CUSTOMER NAME CUSTOMER 1D
CUSTOMER PART NUMBER
P-FSM-409-RHP-1-68
5 4

18/32"]
R.094in

[25/32"]

[1/2"}
.500ir

D
BETAIL A
SCALE1:6
DETAIL J
SCALE1:86
Lir"]
c
[11/32]
3
.781in
f (147
[29/32"] [ .250in
.908in
[23/32"]
_719in
NOTES:
PROFILE CODE : 196 a
STANDARD F/J PINE

4 IN. FRAMESAVER

STANDARD OFF-WHITE
STANDARD SINGLE COAT

BOTTOM HAUNCH ENDWORK:
STPML (INSWING;

HINGE BACKSET PIN - 09375
HINGE TOS TO TOH PIN - 3,25
HINGE 1 TO 2 CENTER PIN - 4.1875
HINGE 2 TO 3 CENTER PIN - 4.1875

INSERT ACTIVE RAB BEIGE - PE 650
TRIM WEATHERSTRIP - ACTIVE RAB

FULL PACKAGE QTY : 21 (7 WIDE X 3 HIGH)

rrooucrs ine. AMERICAN TEST LAB NORTH

PONEREI 02 oo R can s DATE11/30/23
HAUNCHED MULL REPORT NO. ATLNC 0504.01-23

RIGHT HAND HINGE

AN /r’/ﬂ/vf

1 /
/ e
4
o -

ATL INSPECTOR



atli
Oval

atli
Oval

atli
Oval

atli
Oval

atli
Oval

atli
Oval

atli
0504.01-23


H
{80 21/32°) 4
80.656in [51/2'] &
5.500:

Al STANDARD TOLERANCES:
{UNLESS OTHERWISE SPECIFIED}
TABLE IS IN INCHES
DIMENSION
1ENSION | 1oLERANCE
PROFILE | :.015625
CUTLENGTH| +.03125
MORTISING | :0.015625
b | 003125
WOGDPARTS g
DATE: 8/8/2008

H

L
() (op)
T

)4:5_ .

[37 3/18"]
37.188in

|
42 688in

P.OM.
[8021/32"]
80,656in

[42 11116")

7/16"]

DETAIL D
SCALE1:8

{1116"]

.063in
{ 12"}
500in

1.438in - o [or |§"]
[1/4") . .563in
[« 250in -

12 14
1" 2.250in
1.000in —
fra]
R.250in [37a]
750in

[17/16")
1.438in

| [er18"] -
- = : 172
L1 ] ‘, .563in f .[Sooirlm
R.256in 7‘ - i
*l - {2 14" Tl P
o 2.250in
1.[00(%In i\._ . ]
el S J L qaa)
R.250in 750in

DETAILE
SCALE1:8

DETAIL A
SCALE 1:6

[1/16"]

.083in
(12'] _§‘
.500in

DETAIL J
SCALE1-86

[11/32"]
.344in

ON H-H
SCALE1:8

[414"]
250in
[4 916"]

4
T [25/32"])
781in
{2032}
- “a06in’

4.563in {23/32"]
(217"] 719in
: {172}
Ii 2.125in ——= !_ ‘500"“
] NOTES:
i I PROFILE CODE 196 8
STANDARD F1J PINE
4 IN. FRAMESAVER
b2
1.500in STANDARD OFF-WHITE
‘ STANDARD SINGLE COAT
BOTTOM HAUNCH ENDWORK:
4 1 1 STPML (INSWING})
I | (3/32"] STRIKE 1 BACKSET PIN - 0.5625
T R.094iF1 STRIKE 2 BACKSET PIN - 0.5625
f . INSERT ACTIVE RAB BEIGE - PE 650
(2 ue] TRIM WEATHERSTRIP - ACTIVE RAB
31321 Vi — 2,125 ———=- t
R.094in ~ FULL PACKAGE GTY @ 21 (7 WIDE X 3 HIGH)
ENTERED BY DATE
BJackson 0313412023 En UI'd AMERICAN TEST LAB NORTH
PRODULCTS, I NC.

ML20616% mwers ez DATE11/30/23 i

CUSTOMER NAME CUSTOMER ID P . ENDURAPRODUCTS.COM R E P ORT N O ATL N C 0504 .01'23

Masonite Intl-West Chicago 00013599 HAUNCHED MULL ,

SECONDARY CUSTOMER NAME CUSTOMER ID R|GHT HAND STR|KE /

CUSTOMER ITEM NUMBER

P-FSM-409-RSP-1-68

Y e
oo ch Lt

4 3 2 ATL INSPECTOR


atli
Oval

atli
Oval

atli
Oval

atli
Oval

atli
Oval

atli
0504.01-23


9 27/32"]
9.644in

P
—) \

[31 3/18"]
31.188in

|
(31316"]
31.188in

[79.0%in]
79.01in

(616"
£.563in

¢ 1
u
B

{37 3/4")
37.750in

{681
68.938in

5/16"]

(171967}
1.438in

14 1/847]
4.016in

[58"]
R.625in

DETAIL B
SCALE1:8

(332"
.094in

72

SECTION C-C
SCALE 1:8

[4 818
4.583in

(2184

| b 2.125i0

DETAIL A
SCALE1:6

DETAIL 4
SCALE 1:8

1187}
25

[11/32")

[.28in]
.250in

[25/32")

-
781in

[29/32"]
.806in

[23/32")
.719in

L12]
500N

NOTES:

PROFILE CODE : 196

STANDARD TOLERANCES:
{UNLESS OTHERWASE SPECIFIED)
TABLE IS IN INCHES

DIMENSION

TENSION | 101 erancE
PROFILE | s .015625

CUTLENGTH| + 03125

MORTISING | :0.015625

B . | +0.03125
WOOD PARTS 8
DATE: 5/8/2008

[
R.084i
ENTERED BY

BJackson
SPEC NUMBER

ML206165

CUSTOMER NAME

Masonite Intl-West Chicago
SECONDARY CUSTOMER NAME

CUSTOMER ITEM NUMBER

STANDARD F/J PINE
4IN. FRAMESAVER

STANDARD OFF-WHITE
STANDARD SINGLE COAT

BOTTOM HAUNCH ENDWORK:

142
1.500in

[2 18]

(32°] 2 12517

R.084in

—

DATE

8817 W. MARKET ST,

P-FSM-409-LHP-0O-68

EZSO0S (QUTSWING)
HINGE BACKSET PIN - 0.9375
HINGE TOS TO TOH PIN - 3,25
HINGE 1 TO 2 CENTER PIN - 4,1875
HINGE 2 TO 3 CENTER PIN - 4.1875

INSERT ACTIVE RAB BEIGE - PE 650
TRIM WEATHERSTRIP - ACTIVE RAB

FULL PACKAGE GTY 21 (7 WIDE X 3 HIGH;

e on ura AMERICAN TEST LAB NORTH
FAX(%0) 6884478 DATE11/30/23

s Al
00013598 ™™ HAUNCHED MuLL REPORTNO. ATLNC 0504.01-23
CUSTOMER ID LEFT HAND HINGE / / : )
LU S
5 4 3 -

ATL INSPECTOR


atli
Oval

atli
Oval

atli
Oval

atli
Oval

atli
0504.01-23


8
i i
(37 316"}
37.188in
E
‘Er_\ y
L]
142 11/16") _B,
G G

42.688in
|

STANDARD TOLERANCES:
{UNLESS OTHERWISE SPECIFIED)
TABLE IS IN INCHES

DIMENSION | 1oLERANCE
PROFILE | &.015625
CUTLENGTH| 2 .03125
MORTISING | +0.015625
ety | 003125
DATE: 5/8/2008 8

(5127
5.500in

AR

DOOR
STOP
[79.01in)
79.01in

[17/18%]
I 1.438in

(916"}
.563in [174"]
l R.250in
(2 1/4"]
2.250in
T [ 1..]
~ 1.000In
[
{3/4"] R.250in
.750in

DETAIL D
SCALE1:8

[1716"]
.063in
[172°)
.500in

[916"]
5631

-
[2 1/4)
2.250in

—

(1
1.000in

[3/47]
.750in

(14]
R.250in

DETAIL A
SCALE1 &

OETAILE
SCALE1:8

[1118"]

083in
[1/2"3
.500in

DETAIL J
SCALE1:6

[1/8"]
125in

[11132"]
.344in

3|

SECTION G- SCALE 115
[79 27/32"] SCALE1:8
79.844in (2832']
.781in
(4 916" .
et 4.563in [23132"] _]
| .718in [29/32"]
.%0EBin
[1:2" [2 18
500in e 2.1251n ——=
[
i
| NO
’ PROFILE CODE : 196 8
STANDARD F#J PINE
4 IN. FRAMESAVER
112" {21/2]
E 2.500in STANDARD OFF-WHITE

STANDARD SINGLE COAT

BOTTOM HAUNCH ENDWORK:
EZSOS (QUTSWING)

ENTERED BY
BJackson

SPEC NUMBER
ML206171

CUSTOMER NAME

N

[21/8")

=

STRIKE 1 BACKSET PIN - 0.5625
STRIKE 2 BACKSET PIN - 0.5625

L)

A

INSERT ACTIVE RAB BEIGE - PE 650
TRIM WEATHERSTRIP - ACTIVE RAB

FULL PACKAGE QTY : 21 (7 WIDE X 2 HIGH)

L3f32"]
R.094in

13/32"]
R.094in

Masonite intl-West Chicago
SECONDARY CUSTOMER NAME

CUSTOMER PART NUMBER

P-FSM-409-LSP-0-68

- ! E!ldl]ra AMERICAN TEST LAB NORTH
BREGRIE e B S DATEL130723
8;5;:;;};5 —E H/E'E.;':I;IS"LEDES)T'\AIULL REPORT NO. ATLNC 0504.01-23
CUSTOMER ID Al RIKE // a f, 1 /! } L
T 2vth L L

ATL INSPECTOR


atli
Oval

atli
Oval

atli
Oval

atli
Oval

atli
Oval

atli
0504.01-23


CONFIDENTIAL PROPERTY OF MASONITE PRINTED DRAWING MAY NOT BE MOST RECENT VERSION

REVISION HISTORY
REV DESCRIPTION PCR DRAWN BY DATE APPROVED
E (10) PART NUMBERS ADDDED. 718 LBH 9/30/20 AAV
F ADDED NOTE 8 940 DB 05/19/2022 AAV
1220
[30.99]
THIS SURFACE
7 K TO BE TRIMMED
‘ GROOVE
SEE . CAP MATERIAL
_}____ DETAILA ! 4. . TO BE 4
L1 N GRADE "A" LVL
125
[3.18] :
R.188
[R4.76] .625 FOR MFL L
DETAIL A i e
LVL TO BE AMERICAN TEST LAB NORTH
PARALLEL TO CAP DATE11/30/23
REPORT NO. ATLNC 0504.01-23
PART NUMBER DESCRIPTION L TYPE , 5
582202150628.3750 28.375" F) PN RAILTOP 1573 [39.95] | 28375  [720.73] | AFL / 4 =
582202150628.5340 28.594" £J PN RAILTOP 1573 [39.95] | 28.504 [726.29] | MFL / 9 //Wém
582202150630.3750 30.375" FJ PN RAIL TOP 1573 [39.95] | 30375 {77153} | AFL r e
582202150630.5840 30.534" FJ PN RAILTOP 1573 [39.95] | 30594 [777.09] | MEFL
582202150632.3750 | 32.375" FJ PN RAILTOP 1573 [39.95] | 32375 (822.33] | AFL NOTE: ATL INSPECTOR
582202150632.5040 32.584" FJ PN RAILTOP 1573 [39.95] | 32504 [827.89] | MFL 1. SEE: EMS 306392 FOR WOOD INSPECTION DARDS
582202150633.0310 33.031" FJ PN RAILTOP 1573 [39.95) | 33.031 [838.99) | AFL 2. MATERIAL IS FINGER JOINTED OR LAP LVL OR EQUIVALENT
582202150634.3750 34.375" FJ PN RAILTOP 1573  [39.95| | 34375 [873.13) | AFL 3. PARTS ARE UNPAINTED & WITH NO PRESERVATIVE H
582202150634.5340 34,594" F) PN RAIL TOP 1.573 [39.95) | 34.584 [878.69) MFL 4. GRADE "A" LVL TO MEET "GRADED SURFACE X EXTERIOR'
582202150340.5340 40.594" F PN RAIL TOP 1573  [39.95] | 40.594 [1031.09]| WMFL SPECIFICATION FROM EMS 306392
582202150728.3750 | 28.375" (GEN) FJPNRAILTOP | 1593  [40.46] | 28.375 [720.73] | AFL 5. SYMBOL (C) INDICATES CRITICAL DIMENSION
582202150728.5340 | 28.594" (GEN) FJPNRAILTOP | 1593 [40.45] | 28.594 [726.29] | WMFL 6. DIMENSIONS IN BRACKETS [XX] INDICATE METRIC mm DIMENSIONS
582202150730.5540 | 30.584" (GEN) F) PN RAILTOP | 1.593 [4D.06) | 30584 [777.09) | MFL 8. ONE END OF THE THICK COMPONENTS (1.593" THICK) TO BE IDENTIFIED WITH
582202150732.3750 |32.375" (GEN) FJPN RAILTOP | 1593  [40.46) | 32.375 [822.33] | AFL YELLOW COLOR
582202150732.5040 | 32.594" (GEN) FJPNRAILTOP| 1593  [40.46) | 32594 [827.89) | MFL 5 /4 TOP RAIL
582202150733.0310 | 33.031" (GEN)FJPNRAILTOP | 1593  [40.45] | 33.031 [838.99) | AFL FIBERGLASS - PURCHASED
582202150734.3750 | 34.375" (GEN) FIPNRAILTOP| 1593  [40.46) | 34.375 [873.13) | AFL TSI
" TOLERANCES UNLESS
582202150734.5940 | 34.594" (GEN) FIPNRAILTOP | 1593  [40.46) | 34.534 [878.69] | MFL T S DECIMAL$ 031"
582202150740.5040 | 40.504" (GEN) FIPNRAILTOP | 1593 [40.46] | 40.594 [1031.09]| MFL ANGIE: 1

[iil MASONITE

2030367



atli
Line

atli
0504.01-23


'ZJ
m
<

DESCRIPTION ~ DATE |INIT.| ECNg#
| DIM 1.585 WAS 1.600 | 4/1/13 | AAV| 8706

DIM 1.573 WAS 1.595 | 9/1/17 | CJ | 9440.
| E | (2) 3/4" HOLES ADDED | 12/5/17 | AAV| 95221

oo

NEW CONSTRUCTION ) REPLACEMENT N |
_ ART # | DM "A" | DM "8 WIDTH PART # DM "A" | DM "B”
26 | _ 28 3/8" | NJ/A 26 | 581902160327.3751348 | 27 3/8" N/A
28 S%51348 | 30 3/8" | 28" 28 | 581902160329.5751348 | 29 3/8" | 28"
210 | 32 3/8" 30° 210 | 581902160351.3751348 | 31 3/8" | 30"
30 43/8" | 307 30 | 581902160333.3751348 | 33 3/8 30" |
—— DM A S
~_ oM ®
24"
» REF
'8 ; -— 1.220 —=
12

-‘T 531 TYP \ »

’— 7 —~{ = .375 TYP
W +1/8"
3.063" —1/8] FOR
1" FILL HOLE — 2" COUNTERBORE
/Y )

| \

frwz N i
HALF //+\\ Ay \"",/T\\\ >3
e S R /L ® | Ao 3
s N y 7 Fi
\ Z ~__- .\ ,
\ , \ 3/16" DIA (TYP) - 2 3/8" LONG i
3/4" DIA AMERICAN TEST LAB NORTH FOAM FLAP
CO RBO
/A T0 DEPTH SHowN DATE11/30/23 (STAPLED AS SHOWN)
2 PLACES

2 PLACES e REPORTNO. ATLNC 0504.01-23

/ r ) TILE: 5/4 BOTTOM RAIL (COMPOSITE) — NEW LINE ol Rl
/I/ A /é\/‘évx FIBERGLASS — MANUFACTURED (.750 TAB) 07-019 PRI??re(VI:JNASONITE
NOTES: . g M »_// o | TOLERANCES UNLESS FRACTION 1/32" | SCALE | ELE 10,/05 /07
1. MATERIAL IS TO BE COMPOSITE. / f ' |°T“ERW'SE D AR e UL | eHECKRED —
2. PARTS ARE TO BE UNPRIMED. -

5 MAKE FROM PURCHASED COMPONENTS ON DRAWNG %@AE—EO%\J;QR ‘ m1 MASONITE. @gg”ggﬂcg‘msgwg°%‘3’ng33§‘%§£%£”] ORAWNG NUWGER

UNAUTHORIZED USE, MANUFACTURE OR REPRO-

DUCTION, IN WHOLE OR IN PART, IS PROHIBITED. | R\/\/Og— 001 1 9



atli
Line

atli
0504.01-23


REVISION HISTORY

AMERICAN TEST LAB NORTH

DATE11/30/23

REPORT NO. ATLNC 0504.01-23

ATL INSPECTOR

REV DESCRIPTION PCR DRAWN BY DATE APPROVED
(2) PART NUMBERS ADDED.
F CELCO PART NUMBER 718 LBH 9/30/20 AAV
REMOVED.
G ADDED NOTE 9 940 DB 05/19/2022 AAV

Vot (nres

GROOVE
SEE DETAIL A
T+.012
90° TYP T~ [+.30] 125
TYP - T [3.18]
1.688 e +
é xS [42.88]
i 1 .020
[0.51]
J DETAIL A
.750+.015 CAP MATERIAL
[19.05+ .38] TO BE 375
A L +.020 © GRADE "A" LVL [9.53]
NOTE:
1. SEE SPECIFICATION 306391 EMS FOR STILES
2. ACCEPTABLE MATERIAL CAN BE: LVL WITH PINE CAP, LVL WITH GRADE A LVL.
3. ACCEPTABLE CONSTRUCTION CAN BE: LAP JOINT LVL OR
FINGERJOINT LVL CONSTRUCTION.
PART NUMBER DESCRIPTION T L PLANT 4. GRADE A LVL TO MEET "GRADED SURFACE X-EXTERIOR" SPECIFICATION FROM
77" SINGLE PLY WITH LVL STILE BLNK EMS 306391
S89601060377.0002147| ¢ 1ok 1 PINE EDGE BAND 0.75TAB | 178 [40.08] | 77.000 [1955.80]| DICKSON| 5 pARTS ARE UNPAINTED AND WITHOUT PRESERVATIVE FINISH
79.375" SINGLE PLY WITH LVL STILE 6. SYMBOL (C) INDICATES CRITICAL DIMENSION
589501060379.3752147 |\ cTRK FJ PINE EDGE BAND 075 | 1578  [40.08] | 79.375 [2016.13]| DICKSON| 7, DIMENSIONS IN BRACKETS [XX] INDICATE METRIC mm DIMENSIONS
e RSP AT HIVLETI 8. MILL OPTION TO USE ONE LAYER OF RADIATA PINE VENEER ON FRONT AND BACK.
S89601060395.3752147 | (o o e EDGEBAND O.75 | 578 [40.08] | 95.375 [2422.53]| DICKSON| 9. ONE END OF THE THICK COMPONENTS (1.598" THICK) TO BE IDENTIFIED WITH
589601060777.0002147 77" (GEN) SINGLE PLY WITH LVLS:I'ILE 1.598 40.59 77.000 [1955.80}| DICKSON e
‘ BLNK STRK FJ PINE EDGE BAND0.75 | [40.59) | 77.000 [2955. "' WOOD STILE
589601060779.3752147| o7 (GEN) SINGLEPLYWITHLVL | o0 11501 | 70375 [2016.13]| Dickson AFL FIBERGLASS LINE - PURCHASED

STILE BLNK STRK FJ PINE EDGE BAND

CONFIDENTIAL PROPERTY OF MASONITE PRINTED DRAWING MAY NOT BE MOST RECENT VERSION

TOLERANCES UNLESs ~ FRACTION £1/32°

. DECIMAL + 031"
OTHERWISE NOTED ARE:  snGiE + 17

7/26/2016

[l MAsONITE

AWING

C2030386



atli
Line

atli
0504.01-23


REVISION HISTORY
REV DESCRIPTION PCR DRAWN BY DATE APPROVED
AMERICAN TEST LAB NORTH C | (2) PART NUMBERS ADDED. 718 LBH 9/30/20 AAV
DATE11/30/23 D ADDED NOTE 7 940 DB 05/19/2022 AAV
REPORT NO. ATLNC 0504.01-23
ATL INSPECTOR
. | ) T+ 015
‘ +.125 [+ 3.18] \ [——T [+ 38]
ORIENTATION OF LVL
(IF USED}
NOTE:
1. MATERIAL TO BE SOLID WOOD CONSTRUCTION OR LVL.
PART NUMBER DESCRIPTION T L 2. SEE DRAWING EMS-306393 FOR MATERIAL SPECIFICATIONS.
580A03000312.0000 12" SOLID WOOD LOCK BLOCK 1.565 [39.75) 12.000  [304.80] 3. MATERIAL IS UNPAINTED
580A03000321.0000 21" SOUD WOOD LOCK BLOCK 1.565 [39.75] | 21.000  (533.40] 4. DIMENSIONS IN BRACKETS [X.XX] INDICATE METRIC (mm)} DIMENSIONS
580A03000712.0000 | 12" (GEN) SOLID WOOD LOCK BLOCK |  1.585 140.26) | 12.000  [304.80] 5. FOR MASONITE PLANT:
580A03000721.0000 | 21" (GEN) SOUD WOOD LOCK BLOCK |  1.585 40.26] | 21.000 {533.40} FOR USE WITH RAISED PANEL BARRINGTON,

6/8 SMOOTH 6 PANEL HVHZ & 6/8 SMOOTH FLUSH HVHZ.
LOCK BLOCK NEEDS TO BE PLANNED DOWN TO 1.545 + .015.

6. SYMBOL(C) INDICATES CRITICAL DIMENSION.

7. ONE END OF THE THICK COMPONENTS (1.585" THICK) TO BE IDENTIFIED
WITH YELLOW COLOR

" SOLID WOOD LOCK BLOCK
FOR 8/4 STILES - PURCHASED

FRACTION £ 1/32"
DECIMAL £ .031" 4
ANGLE+1*

TOLERANCES UNLESS
OTHERWISE NOTED ARE:

ATE
3/23/2016

DRAWING DESIGN AND OTHER DISCLOSURES ARE
THE PROPERTY OF MASONITE DOOR CORPORATION.

| B
UNAUTHORIZED USE, MANUFACTURE OR REPRODUCTION
{IN WHOLE OR IN PART) IS PROHIBITED. CZO303 18

[}i1 MASONITE

CONFIDENTIAL PROPERTY OF MASONITE PRINTED DRAWING MAY NOT BE MOST RECENT VERSION



atli
Line

atli
0504.01-23


CLOSURE TO BE AT TOP
OF UNIT, SEE NOTE #6

z

N
N

(llfy

SEE NOTE #9 -/

g 1

e

SECTION A-A

AMERICAN TEST LAB NORTH

DATE11/30/23

REPORT NO. ATLNC 0504.01-23

Yoidh (e

ATL INSPECTOR

REVISION HISTORY
REV DESCRIPTION PCR DRAWN BY DATE APPROVED
EDITED LEADER TEXT ON
E SHEET 2 1201 DB 10/26/2022 AAV
NOTE:

1. PREMIUM CUSHION EDGE SPACER SHOWN, PREMIUM SUPER SPACER SIMILAR
REFER TO DRAWING C2030627 FOR SPACER DETAILS.
2. SECONDARY SEAL MUST NOT EXTEND BEYOND EDGE OF GLASS.
3. RECTANGULAR LITE SHOWN. DETAIL "B" IS TYPICAL OF ALL SHAPES AND SIDES.
4. FOR IGU MANUFACTURING, INSPECTION & QUALITY REQUIREMENTS,
REFER TO QUANEX SUPER SPACER INSULATING GLASS MANUFACTURING MANUAL.
5. CLOSURE MUST BE TIGHT WITH NO GAPS OR VOIDS IN SEALANT.
6. CLOSURE TO BE LOCATED AT TOP OF THE SEALED UNIT, UNLESS OTHERWISE
SPECIFIED.
7. SEE SBP-EMS-0001 FOR FLAT GLASS SPECIFICATIONS.
8. SEE SBP-EMS-0006 FOR FLAT GLASS QUALITY SPECIFICATIONS.
9. TEMPER LOGOS ON BOTH PANES TO ALIGN IN SAME CORNER.
10. ALL TEMPERED GLASS MUST COMPLY WITH THE CODES AND STANDARDS LISTED
IN SPEC. #SBP-EMS-0001, SECTION 3.0.
11. ALL TEMPERED GLASS TO BE MARKED WITH LOGO PER
SPEC. # SBP-EMS-0001, SECTION 4.0.
12. 1G UNITS TO BE 3RD PARTY CERTIFIED TO ASTM E 2190 "STANDARD SPECIFICATION FOR
INSULATING GLASS UNIT FOR PERFORMANCE AND EVALUATION" AND
BE MARKED PER THEIR INSPECTION AGENCY REQUIREMENTS.
13. IG CERTIFICATION LOGO TO BE SAME CORNER OF IGU AS TEMPERED GLASS LOGO.
14. FOR CONSTRUCTION DETAILS, ACCEPTABLE MATERIALS, QUALITY STANDARDS,
AND PERFORMANCE REQUIREMENTS OF LAMINATED SAFETY GLASS FOR
LAMINATED 1GU, REFER TO MASONITE EMS # SBP-EMS-0008.
15. DIMENSIONS IN BRACKETS [XX] INDICATE METRIC mm DIMENSIONS
16. IGU EDGE SHOULD BE FREE FROM EMBEDDED PIECES OF
GLASS/CARDBOARD/CORK PADS ETC.

" SUPER SPACER INSULATED GLASS UNIT ASSEMBLY ° ;_:,5"'*7‘6 HION
SCALE ISHEET DRAWN BY
less  FRACTION:1/32" NTS |10F2 | EVT
olﬁé.fmf ﬁ,sol;;, ARE: gﬁ%’{‘g’;"f. 031 SREETIIE [DATE
Iii1 MASONITE B Lo/2/2017
I STRTRG

CONFIDENTIAL PROPERTY OF MASONITE PRINTED DRAWING MAY NOT BE MOST RECENT VERSION A1020319



atli
Line

atli
0504.01-23


LOW-E COATING SURFACE (LOW-E OR LOW-E ARGON IGU}

AIR (CLEAR OR LOW-E IGU)
OR ARGON FILLED ( LOW-E ARGON IGU)
(MINIMUM 90% INITIAL FILL REQUIRED)

OPTIONAL DECORATIVE PANEL
CLEARORLOW-E _ 7/ [ | %
LAMINATED GLASS 4
TEMPERED GLASS/ \ / TN CLEAR OR TEXTURED
CLEAR OR LOW-E ™~ / OPTIONAL DECORATIVE PANEL / / TEMPERED GLASS
>; CLEAR OR TEXTURED A
\, / EMPERED GLASS
PREMIUM
[1.2_0700] MAR SUPER SPACER
A \ |~ WITH BLACK
: = ACRYLIC ADHESIVE
500 MAX [ ! o
[2.70) PREMIUM SUPER SPACER e :
|~ WITH BLACK ACRYLIC ADHESIVE A S f
o« d 4}\
b—w N QUANEX EDGETHERM 3600
: ey A X & 030 OR HB FULLER ISOMELT M
. 063 MAX SK| MINIMUM 7/32"
W _ﬁ‘\ [1.60]
QUANEX EDGETHERM 3600
X +,032 OR HB FULLER ISOMELT M {MANUAL LINE)

063 MAX SKEW [£.81] MINIMUM 7/32"

[1.60]

(MANUAL LINE) STANDARD IGU

.031 MAX SKEW

78] DETAIL B
AUTO LINE
031 MAX SKEW AMERICAN TEST LAB NORTH ) —
179] DETAIL B DATE11/30/23 . .
(ALTQ LINE) REPORTNO. ATLNC 0504.01-23 T e
TABLE 1 / , -
X w - K ( ) e
;.ggg g‘;£ { M //Wé JPER SPACER INSULATED GLASS UNIT ASSEMBLY
o [ ATL INSPECTOR

CONFIDENTIAL PROPERTY OF MASONITE PRINTED DRAWING MAY NOT BE MOST RECENT VERSION

7] MASONITE

TOLERANCES UNLESS

FRACTION + 1/32"
OTHERWISE NOTED ARE:

DECIMAL £ .031"
ANGLE + 1°

DAT!
B 5/2/2017

A1020319



atli
Line

atli
0504.01-23


REVISION HISTORY
REV| DESCRIPTION | PCR |DRWBY| DATE |CHKBY
A RELEASED 7673.3] HXW |07/21/10] MDW

AMERICAN TEST LAB NORTH
DATE11/30/23

20.707 :
[525.96] v
~17.593
[446.86] 65.875
14.479 [1673.23] ‘ REPORT NO. ATLNC 0504.01-23
N [ [367.77) ¢ REF. A
N —— e e r _ /4 { /
. 8| screw /’ / [ ( MV\
FEMALE BOSS / A /
© LOCATOR I TYP.(16) |/ f M -
22,062+ 031 1 ATL INSPECTOR
[560.37 £ .79] ¢ 23938
© RIB [608.02)
22.812+ .031 e e REF.
[579.42+ .79] FEMALE
4,380 =
[1Té§0c?a] _ [111.24]
4094 |
[103.97]
1.270
[32.25] [64.6 10] ) NOTES:
i 38.187 1.1 LITE SHOWN. SIMILAR FOR 10 L ITE & 15 LITE.
[969.95]
39.062
GLASS OPENING DIMS [092.18] 50.937 \
ARE MEASURED TANGENT [1 293.80] < \
INSIDE OF SCREW BOSS 55.390 N OT l C E
. [1406.90] \
; Pr41.24) , — 15591-23158] THIS DRAWING IS FOR
RE : 64.000£.063 INSPECTION PURPOSES
- -000x. ONLY.
[1625.60£1.59] IT 1S NOT TO BE USED FOR
[16(;"4‘7‘ 560511;‘1)6539] - TOOLING PURPOSES.
S 6521,
TITLE: 122 (22 x 64) SERIES LITE FRAMES Gonnos | MASONITE
1 INJECTION MOLDED - PURCHASED ~ 7673.3 | fermm—tmanr—rrmrre
N e e oeteson | NTS fonoaooe oo
p rn ANGLES 1" B|SHEET 1 oF 2
DETAIL A T "Mesoncle| wrmm s s s
UNEONTROLLED COPY IF PRINTED UNAUTHORIZED USE. MANUFACTURE OR REPRO- | SBP-LF-0003
al i | IBI 5



atli
Line

atli
Line

atli
0504.01-23


FRAME| EXTERNAL # IG
YPE PART
\ # SIDE GRIDS LITES| THICKNESS
78F122.01-1A0 | _Inner - p N
ALMOND 78F122:01-1AX | Outer
¥8F122-15-5A0 | _Inner - p p—
78F122-15-5AX | Outer
78F122-04<1MO| Inner No 1 1"
78F122-01-1 Outer
78F122-01-5MO | lgner \
78F122-01-5MX | Ouler_ e ! 12
78F122-10-5MQ | Inner "
CERTURICH 78F122-10-5MX | Outer N"s 10 s
78F122-15-1MO | Inner \ "
78F122-15-1MX | Outer ies 15 !
78F122-155MO| _Inner ]
78F122-15-5MX | Outer NEE \15\ 12
78F122-01-1Y0 | _Inner .
MAHOGANY | e 122:01-1YX | Outer No ! \7\
HURRICANE LITE™ - | 78F122-01-1GO| Inner No 1 " AN
HVHZ IMPACT RATED | 78F122-01-1GX | Outer
NOTES:

2. SEE DRAWING # SBP-LF-0005 FOR PROFILE & SPECIFIC PART FEATURE DETAILS.
SEE DRAWING # SBP-EMS-0002 FOR LITE FRAME MATERIAL & QUALITY SPECIFICATION.

3.
4. DIMS IN BRACKETS [X.XX] INDICATE METRIC VALUES.
5.

PACKAGING SPEC:
- BOX DIMENSIONS / TYPE: 66.25" x 23" x 24" ID, 51 ECT, BC RSC DOUBLEWALL, STICHED.

-BOXQTY : 18 PCS.
- PALLET DIMENSIONS : 47" x 87" x 5"
- BOXES PER PALLET: 8
6. © INDICATES CRITICAL DIMENSION. 4 TOTAL.

UNCONTROLLED COPY IF PRINTED |D‘-%MW

NOTICE

THIS DRAWING IS FOR
INSPECTION PURPOSES
ONLY.

IT1S NOT TO BE USED FOR
TOOLING PURPOSES.

AMERICAN TEST LAB NORTH
DATE11/30/23
REPORT NO. ATLNC 0504.01-23

ATL INSPECTOR

TITLE:

122 SERIES (22 x 64) LITE FRAMES
INJECTION MOLDED - PURCHASED

ORIGINAL
PCN NO.

7679.3

SPEC:

SCALE

TOLERANCES UNLESS
OTHERWISE NOTED ARE:

FRACTION

ANGLE 1

+1/327

DECIMAL +.031"

NTS

MASONITE
DRAWN _ DRAWN BY
3/16/2009  HXW

DRAWING DESIGN AND OTHER DISCLOSURES ARE
THE PROPERTY OF MASONITE DOOR CORPORATION.
UNAUTHORIZED USE, MANUFACTURE OR REPRO-
DUCTION, IN WHOLE OR IN PART, 1S PROHIBITED.

SHEET
size B

SHEET 2 OF 2

DRAWING NO.

SBP-LF-0003



atli
Line

atli
Line

atli
0504.01-23


AMERICAN TEST LAB NORTH
DATE11/30/23
REPORT NO. ATLNC 0504.01-23

M OW FINAL ASSEMBLY DETAILS B Ton

REV DESCRIPTION PCR _|DRAWNBY| DATE | APPROVED
ATL INS A——— POST-TRIM REMOVED DISCONTINUED
( ) G PART IR 1123 DB 08/03/2022 ZS/AV
| D . 4.375 H | EDITED NOTE 3 ON SHEET 1. 695 DB 10/27/2022 AAV

111]

TABLE 1: MASONITE SPEC 6/8 Full Lite
[ Glass Width Glass Height Door Widths | Door Height A B [ D E (REF) | F(REF) G
26.000 64.000 3/0 6/8 35750 | 79.000 | 62.863 | 24.863 | 10.220 4.673 4.673
771 22.000 63.906 2/10 6/8 33.750 79.000 | 62.769 | 20.863 | 10.314 5.673 5.673
[20] 22.000 63.906 2/8 &/8 31750 | 79.000 | 62.769 | 20.863 | 10314 | 4,673 4.673
TYP 4 20.000 63.906 2/6 6/8 29,750 79.000 | 62.769 | 18.863 | 10.314 4.673 4,673
14.000 64.000 2/0 /8 23.750 79.000 | 62.863 | 12.863 | 10.220 4.673 4673
\ TABLE 2: MASONITE SPEC 8/0 Full Lite
lass Width Glass Height Door Widths | Door Height A B [d D E (REF) | F(REF) G
26.000 80.000 3/0 8/0 35750 | 95.000 | 78.863 | 24.863 | 10.220 4673 4673
22.000 80.000 2/10 8/0 33.750 95.000 | 78.863 | 20.863 | 10.220 5.673 5.673
22.000 80.000 2/8 8/0 31.750 95.000 | 78.863 | 20.863 | 10.220 4.673 4673
B 20.000 80.000 2/6 8/0 29.750 95.000 | 78.863 | 18.863 | 10.220 4,673 4.673
14.000 80.000 2/0 8/0 23.750 95.000 | 78.863 | 12.863 | 10.220 4.673 4673
NOTE:

1. SHOWN AFTER TRIM - 3/0 X 6/8
2. REFER TO EMS 72432 & 72475 FOR FIBERGLASS SLAB SPECIFICATIONS &

TOLERANCES
&03. REFER TO DRAWING A1020164 FOR LAY-UP ASSEMBLY (PRE-TRIM) DETAILS

AND IGU ORIENTATION REQUIREMENTS ASSOCIATED WITH PANEL
ORIENTATION (EXTERIOR / INTERIOR)

4. SEE DWG LP03-00019 FOR LOCK & HINGE PREP LOCATION PER MASONITE
SPECIFICATIONS

5. SEE DWG LP03-00008 FOR LOCK & HINGE PREP LOCATION PER PREM
SPECIFICATIONS

6. SEE DWG LP03-00029 FOR LOCK & HINGE PREP LOCATION PER PATIO

SPECIFICATIONS
. * VISTA GRANDE SLABS FULL LITE EViSIoN H
FINAL ASSEMBLY DETAILS

FRACTION # 1/32"
TOLERANCES UNLESS DECIMAL £ 031"

OTHERWISE NOTED ARE: ANGLE + 1°
M A S O N | T E DRAWING DESIGN AND OTHER DISCLOSURES ARE
l THE PROPERTY OF MASONITE DOOR CORPORATION. "
UNAUTHORIZED USE, MANUFACTURE OR REPRODUCTION A1020163
G MAY NOT BE MOST RECENT VERSION {IN WHOLE OR IN PART) IS PROHIBITED.

CONFIDENTIAL PRO TY OF MASONITE PRINTED DRA



atli
Oval

atli
0504.01-23


MASONITE SPEC 7/0 Full Lite

Glass Width Glass Height Door Widths | Door Height A B C D E (REF} | F (REF) G
26.000 68.000 3/0 7/0 35.750 83.000 66.863 | 24.863 10.220 4.673 4.673
MASONITE SPEC 7/6 Full Lite
Glass Width Glass Height Door Widths | Door Height A B C D E (REF} | F (REF) G
26.000 74.000 3/0 7/6 35.750 89,000 72.863 | 24.863 10.220 4.673 4.673
PREM DOOR SPEC 7/0 Full Lite
Glass Width Glass Height Door Widths | Door Height A B C D E (REF) | F (REF) G
26.000 68.000 3/0 7/0 35.750 83.250 66.863 | 24.863 10.470 4.673 4.673
PREM DOOR SPEC 7/6 Full Lite
Glass Width Glass Height Door Widths | Door Height A B C D E (REF) | F (REF) G
26.000 74.000 3/0 7/6 35.750 89.250 72.863 | 24.863 10.470 4.673 4.673
TABLE 3: PREM DOOR SPEC 6/8 Full Lite
Glass Width Glass Helght Door Widths | Door Height A B C D E (REF) | F (REF) G
26.000 64.000 3/0 6/8 35.750 79.250 62.863 | 24.863 | 10.470 4.673 4.673
22.000 63.906 2/10 6/8 33.750 79.250 62.769 | 20.863 10.564 5.673 5.673
22.000 63.906 2/8 6/8 31.750 79.250 62.769 | 20.863 10.564 4.673 4.673
20.000 63.906 2/6 6/8 29.750 79.250 62.769 | 18.863 10.564 4.673 4.673
14.000 64,000 2/0 6/8 23.750 79.250 62.863 | 12.863 10.470 4.673 4.673
TABLE 4;: PREM DOOR SPEC 8/0 Full Lite
Glass Width Glass Height Door Widths | Door Height A B C D E (REF) | F(REF) G
26.000 80.000 3/0 8/0 35.750 95.250 78.863 | 24.863 10.470 4.673 4.673
22,000 80.000 2/10 8/0 33.750 95.250 78.863 | 20.863 10.470 5.673 5,673
22.000 80.000 2/8 8/0 31.750 95.250 78.863 | 20.863 10.470 4.673 4.673
20.000 80.000 2/6 8/0 29.750 95.250 78.863 18.863 10.470 4.673 4.673
14.000 80.000 2/0 8/0 23.750 95.250 78.863 12.863 10.470 4.673 4,673
AMERICAN TEST LAB NORTH

DATE11/30/23
REPORT NO. ATLNC 0504.01-23

Vot (oo

ATL INSPECTOR

CONFIDENTIAL PROPERTY OF MASONITE PRINTED DRAWING MAY NOT BE MOST RECENT VERSION

TTLE

VISTA GRANDE SLABS FULL LITE

FINAL ASSEMBLY DETAILS

[iil MASONITE

TOLERANCES UNLESS
OTHERWISE NOTED ARE:

FRACTION & 1/32"
DECIMAL £ .031"
ANGLE $ 1°

2 0F 11 fjlomeo

DATE

6/27/2016

| A1020163



atli
0504.01-23


TABLE 5: PATIO 6/8 Full Lite

Door Widths Door Height Glass Width Glass Height A B C D E (REF) F (REF) G
3/0 6/8 26.000 64.000 34.406 76.875 62.863 | 24.863 8.095 3.366 4.635
2/10 6/8 22.000 63.906 32.406 76.875 62.769 | 20.863 8,189 5.001 5.001
2/8 6/8 22.000 63.906 30.406 76.875 62.769 | 20.863 8.189 3.366 4.635
2/6 6/8 20.000 63.906 28.406 76.875 62.769 | 18.863 8.189 3.366 4.635
2/0 6/8 14.000 64.000 22.406 76.875 62.863 | 12.863 8.095 3.366 4.635

TABLE 6: PATIO 8/0 Full Lite

Door Widths Door Height Glass Width Glass Helght A 8 C D E (REF) F (REF) G
3/0 8/0 26.000 80.000 34,406 92.875 78.863 | 24.863 8.095 3.366 4.635
2/10 8/0 22.000 80.000 32.406 92.875 78.863 | 20.863 8.095 5.001 5.001
2/8 8/0 22.000 £0.000 30.406 52.875 78.863 | 20.863 8.095 3.366 4.635
2/6 8/0 20.000 80.000 28.406 92.875 78.863 | 18.863 8.095 3.366 4.635
2/0 8/0 14.000 80.000 22.406 92.875 78.863 | 12.863 8.095 3.366 4.635

AMERICAN TEST LAB NORTH
DATE11/30/23
REPORT NO. ATLNC 0504.01-23

ATL INSPECTOR

[TITLE

VISTA GRANDE SLABS FULL LITE
FINAL ASSEMBLY DETAILS

A HEET
TOLERANCES UNLESS ~ FRACTION +1/32° 3 0F 11 [jlomeo

. DECIMAL 031"
OTHERWISE NOTED ARE:  nneip s 1°

[}il MASONITE

CONFIDENTIAL PROPERTY OF MASONITE PRINTED DRAWING MAY NOT BE MOST RECENT VERSION A1020163



atli
0504.01-23


ECIFICATIONS

AA 250+ .030
[6.35+.762]

|
T

AMERICAN TEST LAB NORTH

SECTION AA-AA REPORTNO. ATLNC 0504.01-23

/fl/ M O/‘M [T]gﬂ”

.250+.030

[6.35%.76] "] [“

SECTION BB-BB

DATE11/30/23

A +.030 SEE

ATL INSPECTOR

NOTE:

1. FOR MASONITE SPEC: A =.313

2. FOR PREM SPEC: A =.063

3. TRIM DIMENSIONS TAKEN FROM THE EDGE
NOT THE EDGE OF THE FACING

VISTA GRANDE SLA
PN LY DETAILS

CONFIDENTIAL PROPERTY OF MASONITE PRINTED DRAWING MAY NOT BE MOST RECENT VERSION

FRACTION # 1/32"

. DECIMALt.031"
OTHERWISE NOTED ARE:  snciE 4 10

h M AS o N | T E DRAWING DESIGN AND OTHER DISCLOSURES ARE
I THE PROPERTY OF MASONITE DOOR CORPORATION, [0
UNAUTHORIZED USE, MANUFACTURE OR REPRODUCTION
(IN WHOLE OR IN PART) IS PROHIBITED. A1020163

TOLERANCES UNLESS



atli
Oval

atli
0504.01-23


TABLE 7: Masonite Spec Non-Textured White New Construction 6/8 - LVL Stile
SIZE GLASS PART NO. DESCRIPTION
2/0x6/8 14x64 30275932 23-3/4" x 79" S&R Non-Text FIGlz FBGL Dr FG2015 14 x 64 Insert 4-3/8" Top White
2/6x6/8 20x64 30275832 29-3/4" x 79" S&R Non-Text FIGIz FBGL Dr FG2015 20 x 64 Insert 4-3/8" Top White
2/8x6/8 22x64 30275632 31-3/4" x 79" S&R Non-Text FIGIz FBGL Dr FG2015 22 x 64 Insert 4-3/8" Top White
2/10x6/8 22x64 30275532 33-3/4" x 79" S&R Non-Text FiGlz FBGL Dr FG2015 22 x 64 Insert 4-3/8" Top White
3/0x6/8 26X64 30275332 35-3/4" x 79" S&R Non-Text FIGIz FBGL Dr FG2015 26 x 64 Insert 4-3/8" Top White
TABLE 8: Masonite Spec Non-Textured White New Construction 8/0 - LVL Stile
SIZE GLASS PART NO. DESCRIPTION
2/0x8/0 14x80 30276632 23-3/4" x 95" S&R Non-Text FIGlz FBGL Dr FG2015 14 x 80 Insert 4-3/8" Top White
2/6x8/0 20x80 30276532 29-3/4" x 95" S&R Non-Text FIGlz FBGL Dr FG2015 20 x 80 Insert 4-3/8" Top White
2/8x8/0 22x80 30276332 31-3/4" x 95" S&R Non-Text FIGlz FBGL Dr FG2015 22 x 80 Insert 4-3/8" Top White
2/10x8/0 22x80 30276232 33-3/4" x 95" S&R Non-Text FIGIz FBGL Or FG2015 22 x 80 Insert 4-3/8" Top White
3/0x8/0 26x80 30276032 35-3/4" x 95" S&R Non-Text FiGlz FBGL Dr FG2015 26 x 80 insert 4-3/8" Top White
TABLE 9: Masonite Spec Fir Textured Beige New Construction 6/8 - Pine Edge
SIZE GLASS PART NO. DESCRIPTION
2/6x6/8 20x64 30277232 29-3/4" x 79" S&R Text FIGI2 FBGL Dr FG2015 Fir 20 x 64 Insert 4-3/8" Top Beige
2/8x6/8 22x64 30277032 31-3/4" x 79" S&R Text FIG)z FBGL Dr FG2015 Fir 22 x 64 Insert 4-3/8" Top Beige
2/10x6/8 22x64 30276932 33-3/4" x 79" S&R Text FIGIz FBGL Dr FG2015 Fir 22 x 64 Insert 4-3/8" Top Beige
3/0%6/8 26X64 30276732 35-3/4" x 79" S&R Text FIGIz FBGL Dr FG2015 Fir 26 x 64 Insert 4-3/8" Top Beige
TABLE 10: Masonite Spec Fir Textured Beige New Construction 8/0 - Pine Edge
SIZE GLASS PART NO. DESCRIPTION
2/6x8/0 20x%80 30277932 29-3/4" x 95" S&R Text FIGlz FBGL Dr FG2015 Fir 20 80 Insert 4-3/8" Top Beige
2/8x8/0 22x80 30277732 31-3/4" x 95" S&R Text FIGlz FBGL Dr FG2015 Fir 22 x 80 insert 4-3/8" Top Beige
2/10x8/0 22¢80 30277632 33-3/4" x 95" S&R Text FIGlz FBGL Dr FG2015 Fir 22 x 80 Insert 4-3/8" Top Beige
3/0x8/0 26x80 30277432 35-3/4" x 95" S&R Text FiGlz FBGL Dr FG2015 Fir 26 x 80 Insert 4-3/8" Top Beige

AMERICAN TEST LAB NORTH
DATE11/30/23

REPORT NO. ATLNC 0504.01-23

i /
/ A
/
” -

/ - 4 LE S|
/ /i FRACTION & 1/32" NTS |5 oF 11 [lomeo
N ot e PRGN fpots 5 0F 11 flome
B 6/27/2016
ATL INSPECTOR m MASONITE
CONFIDENTIAL PROPERTY OF MASONITE PRINTED DRAWING MAY NOT BE MOST RECENT VERSION A1020163

TITLE

VISTA GRANDE SLABS FULL LITE
FINAL ASSEMBLY DETAILS



atli
0504.01-23


TABLE 11: Masonite Spec Non-Textured White New Construction 6/8 - CET Edge

SIZE GLASS PART NO. DESCRIPTION
2/0x6/8 14x64 30278732 23-3/4" x 79" S&R Non-Text FIGlz FBGL Dr FG2015 14 x 64 Insert 4-3/8" Top White (CS)
2/6x6/8 20x64 30278632 29-3/4" x 79" S&R Non-Text FIGlz FBGL Or FG2015 20 x 64 Insert 4-3/8" Top White (CS)
2/8x6/8 22x64 30278432 31-3/4" x 79" S&R Non-Text FIGiz FBGL Dr FG2015 22 x 64 insert 4-3/8" Top White (CS)
2/10x6/8 22x64 30278332 33-3/4" x 79" S&R Non-Text FIGIz FBGL Dr FG2015 22 x 64 insert 4-3/8" Top White [CS)
3/0x6/8 26%64 30278132 35-3/4" x 79" S&R Non-Text FIGlz FBGL Dr FG2015 26 x 64 insert 4-3/8" Top White (CS)

TABLE 12: Masonite Spec Non-Textured White New Construction 8/0 - CET Edge

SIZE GLASS PART NO. DESCRIPTION
2/0x8/0 14x80 30279432 23-3/4" x 95" S&R Non-Text FIGlz FBGL Dr FG2015 14 x 80 Insert 4-3/8" Top White (CS)
2/6x8/0 20x80 30279332 29-3/4" x 95" S&R Non-Text FIGIz FBGL Dr FG2015 20 x 80 Insert 4-3/8" Top White (C5)
2/8x8/0 22x80 30279132 31-3/4" x 95" S&R Non-Text FIGlz FBGL Dr FG2015 22 x 80 insert 4-3/8" Top White {CS)
2/10x8/0 22x80 30279032 33-3/4" x 95" S&R Non-Text FIGlz FBGL Dr FG2015 22 x 80 Insert 4-3/8" Top White (CS)
3/0x8/0 26x80 30278832 35-3/4" x 95" SRR Non-Text FIGlz FBGL Dr FG2015 26 x 80 Insert 4-3/8" Top White {CS)

TABLE 13: Masonite Spec Fir Textured Beige New Construction 6/8 - CET Edge

SIZE GLASS PART NO. DESCRIPTION
2/6x6/8 20x64 30280032 29-3/4" x 79" S&R Text FIGlz FBGL Dr FG2015 Fir 20 x 64 Insert 4-3/8" Top Beige (CS)
2/8x6/8 22x64 30279832 31-3/4" x 79" S&R Text FIGiz FBGL Dr FG2015 Fir 22 x 64 Insert 4-3/8" Top Beige (CS)
2/10x6/8 22x64 30279732 33-3/4" x 79" S&R Text FIGlz FBGL Dr FG2015 Fir 22 x 64 Insert 4-3/8" Top Beige (CS)
3/0x6/8 26X64 30279532 35-3/4" x 79" S&R Text FIGlz FBGL Dr FG2015 Fir 26 x 64 Insert 4-3/8" Top Beige (CS)

TABLE 14: Masonite Spec Fir Textured Beige New Construction 8/0 - CET Edge

SIZE GLASS PART NO. DESCRIPTION
2/6x8/0 20x80 30280732 29-3/4" x 95" S&R Text FIGIz FBGL Dr FG2015 Fir 20 x 80 Insert 4-3/8" Top Beige {CS)
2/8x8/0 22x80 30280532 31-3/4" x 95" S&R Text FIGIz FBGL Dr FG2015 Fir 22 x 80 Insert 4-3/8" Top Beige (CS)
2/10x8/0 22x80 30280432 33-3/4" x 95" S&R Text FIGIz FBGL Dr FG2015 Fir 22 x 80 Insert 4-3/8" Top Beige (CS)
3/0x8/0 26x80 30280232 35-3/4" x 95" S&R Text FIGlz FBGL Dr FG2015 Fir 26 x 80 Insert 4-3/8" Top Beige (CS)

AMERICAN TEST LAB NORTH
DATE11/30/23
REPORT NO. ATLNC 0504.01-23

[TTCE

VISTA GRANDE SLABS FULL LITE

% {Q/th /Wém FINAL ASSEMBLY DETAILS

ATL INSPECTOR m1 MASONITE ’mﬂ?ﬂ' 6/27/2016

CONFIDENTIAL PROPERTY OF MASONITE PRINTED DRAWING MAY NOT BE MOST RECENT VERSION A1020163

BY

60F 11

TOLERANCES UNLESS E’;‘éﬂg&’gﬁf" NTS jlomeo
OTHERWISENOTEDARE:  QLCha i’ ATET T [DATE



atli
0504.01-23


TABLE 15: Premdor Spec Non-Textured White New Construction 6/8 - Pine Edge

SIZE GLASS PART NO. DESCRIPTION
2/0x6/8 14x64 30281532 23-3/4" x 79-1/4" S&R Non-Text FIGlz FBGL Dr FG2015 14 x 64 Insert 4-3/8" Top White
2/6x6/8 20x64 30281432 29-3/4" x 79-1/4" S&R Non-Text FIGIz FBGL Dr FG2015 20 x 64 Insert 4-3/8" Top White
2/8x6/8 22x64 30281232 31-3/4" x 79-1/4" S&R Non-Text FIGlz FBGL Dr FG2015 22 x 64 Insert 4-3/8" Top White
2/10x6/8 22164 30281132 33-3/4" x 79-1/4" S&R Non-Text FIGlz FBGL Dr FG2015 22 x 64 Insert 4-3/8" Top White
3/0x6/8 26X64 30280932 35-3/4" x 79-1/4" S&R Non-Text FIGlz FBGL Dr FG2015 26 x 64 insert 4-3/8" Top White

TABLE 16: Premdor Spec Non-Textured White New Construction 8/0 - Pine Edge

SIZE GLASS PART NO. DESCRIPTION
2/0x8/0 14x80 30282232 23-3/4" x 95-1/4" S&R Non-Text FIGlz FBGL Dr FG2015 14 x 80 Insert 4-3/8" Top White
2/6x8/0 20x80 30282132 29-3/4" x 95-1/4" S&R Non-Text FIGlz FBGL Dr FG2015 20 x 80 Insert 4-3/8" Top White
2/8x8/0 22x80 30281932 31-3/4" x 95-1/4" S&R Non-Text FIGlz FBGL Dr FG2015 22 x 80 Insert 4-3/8" Top White
2/10x8/0 22x80 30281832 33-3/4" x 95-1/4" S&R Non-Text FIGIz FBGL Dr FG2015 22 x 80 Insert 4-3/8" Top White
3/0x8/0 26x80 30281632 35-3/4" x 95-1/4" S&R Non-Text FIGlz FBGL Dr FG2015 26 x 80 Insert 4-3/8" Top White

TABLE 17: Premdor Spec Fir Textured Beige New Construction 6/8 - Pine Edge

SIZE GLASS PART NO. DESCRIPTION
2/6x6/8 20x64 30282832 29-3/4" x 79-1/4" S&R Text FIGIz FBGL Dr FG201S Fir 20x 64 Insert 4-3/8" Top Beige
2/8x6/8 22x64 30282632 31-3/4" x 79-1/4" S&R Text FiGlz FBGL Dr FG2015 Fir 22 x 64 Insert 4-3/8" Top Beige
2/10x6/8 22x64 30282532 33-3/4" x 79-1/4" S&R Text FIGIz FBGL Dr FG2015 Fir 22 x 64 Insert 4-3/8" Top Beige
3/0x6/8 26X64 30282332 35-3/4" x 79-1/4" S&R Text FIGIz FBGL Dr FG2015 Fir 26 x 64 Insert 4-3/8" Top Beige

TABLE 18: Premdor Spec Fir Textured Beige New Construction 8/0 - Pine Edge

SiZE GLASS | PARTNO. DESCRIPTION
2/6x8/0 | 20x80 | 30283532 29-3/4" x 95-1/4" S&R Text FIGIz FBGL Dr FG2015 Fir 20 x 80 Insert 4-3/2" Top Beige
u2B/0 | 2280 | 30283332 31-3/4" x 95-1/4" S&R Text FIGIz FBGL Dr FG2015 Fir 22 x 80 Insert 4-3/8" Top Beige
2/10x8/0 | 22x80 | 30083232 33-3/4" x 95-1/4" SBR Text FIG)z FBGL Dr FG2015 Fir 22 x 80 Insert 4-3/8" Top Beige
3/0xB/0 |  26x80 | 30283032 35-3/4" x 95-1/4" SER Text FIGIz FBGL Dr FG20LS Fir 26 x 80 Insert 4-3/8" Top Beige
AMERICAN TEST LAB NORTH
DATE11/30/23

TITLE

VISTA GRANDE SLABS FULL LITE

REPORT NO. ATLNC 0504.01-23
( | ,/We/m FINAL ASSEMBLY DETAILS _
/ F N+ 1/32"
OTHERWISE NOTED ane:  DECIMAL: 031°

/-

ATL INSPECTOR Ih MASONITE 'W%

A1020163

CONFIDENTIAL PROPERTY OF MASONITE PRINTED DRAWING MAY NOT BE MOST RECENT VERSION



atli
0504.01-23


TABLE 19: Premdor Spec Non-Textured White New Construction 6/8 - CET Edge

SIZE GLASS PART NO. DESCRIPTION
2/0x6/8 14x64 30284332 23-3/4" x 79-1/4" S&R Non-Text FIGlz FBGL Dr FG2015 14 x 64 Insert 4-3/8" Top White (CS)
2/6x6/8 20x64 30284232 29-3/4" x 79-1/4" S&R Non-Text FIGlz FBGL Dr FG2015 20 x 64 Insert 4-3/8" Top White (CS)
2/8x6/8 22x64 30284032 31-3/4" x 79-1/4" S&R Non-Text FIGlz FBGL Dr FG2015 22 x 64 Insert 4-3/8" Top White (CS)
2/10x6/8 22x64 30283932 33-3/4" x 79-1/4" S&R Non-Text FIGlz FBGL Dr FG2015 22 x 64 Insert 4-3/8" Top White (CS)
3/0x6/8 26X64 30283732 35-3/4" x 79-1/4" S&R Non-Text FIGlz FBGL Dr FG2015 26 x 64 Insert 4-3/8" Top White (CS)

TABLE 20: Premdor Spec Non-Textured White New Construction 8/0 - CET Edge

SIZE GLASS PART NO. DESCRIPTION
2/0x8/0 14x80 30285032 23-3/4" x 95-1/4" S&R Non-Text FIGlz FBGL Dr FG2015 14 x 80 Insert 4-3/8" Top White (CS)
2/6x8/0 20x80 30284932 29-3/4" x 95-1/4" S&R Non-Text FIGlz FBGL Dr FG2015 20 x 80 Insert 4-3/8" Top White (CS)
2/8x8/0 22x80 30284732 31-3/4" x 95-1/4" S&R Non-Text FIGlz FBGL Dr FG2015 22 x 80 Insert 4-3/8" Top White (CS)
2/10x8/0 22x80 30284632 33-3/4" x 95-1/4" S&R Non-Text FIGlz FBGL Dr FG2015 22 x 80 Insert 4-3/8" Top White (CS)
3/0x8/0 26x80 30284432 35-3/4" x 95-1/4" S&R Non-Text FIGIz FBGL Dr FG2015 26 x 80 Insert 4-3/8" Top White (CS)

TABLE 21: Premdor Spec Fir Textured Beige New Construction 6/8 - CET Edge

SIZE GLASS PART NO. DESCRIPTION
2/6x6/8 20x64 30285632 29-3/4" x 79-1/4" S&R Text FIGlz FBGL Dr FG2015 Fir 20 x 64 insert 4-3/8" Top Beige (CS)
2/8x6/8 22x64 30285432 31-3/4" x 79-1/4" SR Text FiGlz FBGL Dr FG2015 Fir 22 x 64 insert 4-3/8" Top Beige (CS)
2/10x6/8 22x64 30285332 33-3/4" x 79-1/4" S&R Text FIGIz FBGL Dr FG2015 Fir 22 x 84 Insert 4-3/8" Top Beige (CS)
3/0x6/8 26X64 30285132 35-3/4" x 79-1/4" S&R Text FIGIz FBGL Dr FG2015 Fir 26 x 64 Insert 4-3/8" Top Beige (CS)

TABLE 22: Premdor Spec Fir Textured Beige New Construction 8/0 - CET Edge

SIZE GLASS PART NO. DESCRIPTION
2/6x8/0 20%30 30286332 29-3/4" x 95-1/4" S&R Text FiGIz FBGL Dr FG2015 Fir 20 x 80 Insert 4-3/8" Top Beige (CS)
2/8x8/0 22x80 30286132 31-3/4" x 95-1/4" SRR Text FiGlz FBGL Dr FG2015 Fir 22 x 80 insert 4-3/8" Top Beige (CS)
2/10x8/0 22x80 30286032 33-3/4" x 95-1/4" S&R Text FIGlz FBGL Dr FG2015 Fir 22 x 80 Insert 4-3/8" Top Beige {CS)
3/0x8/0 26x80 30285832 35-3/4" x 95-1/4" S&R Text FIGlz FBGL Dr FG2015 Fir 26 x 80 Insert 4-3/8" Top Beige (CS)
AMERICAN TEST LAB NORTH
DATE11/30/23
REPORT NO. ATLNC 0504.01-23
/ -y ) L " VISTA GRANDE SLABS FULL LITE
/flf M //é\/"é FINAL ASSEMBLY DETAILS
/ - SUNLEss  FRACTION £ 1/32"
OTHERWISE NOTED ARE: T ;
DRAWING
CONFIDENTIAL PROPERTY OF MASONITE PRINTED DRAWING MAY NOT BE MOST RECENT VERSION A1020163



atli
0504.01-23


TABLE 23: Non-Textured White Patio Spec 6/8 - Pine Edge

SIZE GLASS PART NO. DESCRIPTION
2/0x6/8 14x64 30287332 22-13/32" x 76-7/8" S&R Non-Text FIGIz FBGL Dr FG2015 14 x 64 Insert 4-5/8" Top Offset White
2/6x6/8 20x64 30287432 28-13/32" x 76-7/8" S&R Non-Text FIGlz FBGL Dr FG2015 20 x 64 Insert 4-5/8" Top Offset White
2/8x6/8 22x64 30287532 30-13/32" x 76-7/8" S&R Non-Text FIGlz FBGL Dr FG2015 22 x 64 Insert 4-5/8" Top Offset White
2/10x6/8 22x64 30304332 32-13/32" x 76-7/8" S&R Non-Text FIGlz FBGL Dr FG2015 22 x 64 insert 4-5/8" Top White
3/0x6/8 26X64 30287732 34-13/32" x 76-7/8" S&R Non-Text FIGlz FBGL Dr FG2015 26 x 64 Insert 4-5/8" Top Offset White

TABLE 24: Non-Textured White Patio Spec 8/0 - Pine Edge

SIZE GLASS PART NO. DESCRIPTION
2/0x8/0 14x80 30287832 22-13/32" x 92-7/8" S&R Non-Text FIGlz FBGL Dr FG2015 14 x 80 Insert 4-5/8" Top Offset White
2/6x8/0 20x80 30287932 28-13/32" x 92-7/8" S&R Non-Text FiGlz FBGL Dr FG2015 20 x 80 Insert 4-5/8" Top Offset White
2/8x8/0 22x80 30288032 30-13/32" x 92-7/8" S&R Non-Text FiGlz FBGL Dr FG2015 22 x 80 Insert 4-5/8" Top Offset White
2/10x8/0 22x80 30304532 32-13/32" x 92-7/8" S&R Non-Text FIGlz FBGL Dr FG2015 22 x 80 Insert 4-5/8" Top White
3/0x8/0 26X80 30288132 34-13/32" x 92-7/8" S&R Non-Text FIGlz FBGL Dr FG2015 26 x 80 Insert 4-5/8" Top Offset White

TABLE 25: Fir Textured Beige Patio Spec 6/8 - Pine Edge

SIZE GLASS PART NO. DESCRIPTION
2/6x6/8 20x64 30288332 28-13/32" x 76-7/8" S&R Text FIGIz FBGL Dr FG2015 Fir 20 x 64 Insert 4-5/8" Top Offset Beige
2/8x6/8 22x64 30288432 30-13/32" x 76-7/8" S&R Text FIGIz FBGL Dr FG2015 Fir 22 x 64 Insert 4-5/8" Top Offset Beige
2/10x6/8 22x64 30304832 32-13/32" x 76-7/8" S&R Text FIGlz FBGL Dr FG2015 Fir 22 x 64 Insert 4-5/8" Top Belge
3/0x6/8 26X64 30288632 34-13/32" x 76-7/8" S&R Text FIGIz FBGL Dr FG2015 Fir 26 x 64 Insert 4-5/8" Top Offset Beige

TABLE 26: Fir Textured Beige Patio Spec 8/0 - Pine Edge

SIZE GLASS PART NO. DESCRIPTION
2/6x8/0 20x80 30288832 28-13/32" x 92-7/8" S&R Text FIGIz FBGL Dr FG2015 Fir 20 x 80 Insert 4-5/8" Top Offset Beige
2/8x8/0 22x80 30288932 30-13/32" x 92-7/8" S&R Text FIGIz FBGL Dr FG2015 Fir 22 x 80 Insert 4-5/8" Top Offset Beige
2/10x8/0 22x80 30305032 32-13/32" x 92-7/8" SRR Text FIGlz FBGL Dr FG2015 Fir 22 x 80 Insert 4-5/8" Top Beige
3/0x8/0 26X80 30282032 34-13/32" x 92-7/8" S&R Text FIGIz FBGL Dr FG2015 Fir 26 x 80 Insert 4-5/8" Top Offset Beige

AMERICAN TEST LAB NORTH
DATE11/30/23
REPORT NO. ATLNC 0504.01-23

s - ) ) ™ VISTA GRANDE SLABS FULL LITE Y

/ M /Wém FINAL ASSEMBLY DETAILS N

r - TOLERANCES UNLESs ~ FRACTION & 1/32" NTS |9 0F 11 fjlomeo
ATL INSPECTOR m MASONITE

DECIMAL £.031" HEET I
B
il
CONFIDENTIAL PROPERTY OF MASONITE _PRINTED DRAWING MAY NOT BE MOST RECENT VERSION | A1020163

OTHERWISE NOTED ARE:  sneips 1+ DATE

6/27/2016



atli
0504.01-23


TABLE 27: 7/0 & 7/6 MASONITE SPEC
SIZE GLASS PART NO. DESCRIPTION
3/0X7/0| 26X 68 30344032 35-3/4" x 83" S&R Non-Text FIGlz FBGL Dr VistaGrande 26 x 68 Insert 4-3/8" Top White
3/0X7/6| 26X 74 30344132 35-3/4" x 89" S&R Non-Text FIGIz FBGL Dr VistaGrande 26 x 74 Insert 4-3/8" Top White
3/0X7/0| 26X68 30344032 35-3/4" x 83" S&R Non-Text FIGlz FBGL Dr VistaGrande 26 x 68 Insert 4-3/8" Top White (CS)
3/0X7/6| 26X74 30344132 35-3/4" x 89" S&R Non-Text FIGIz FBGL Dr VistaGrande 26 x 74 Insert 4-3/8" Top White (CS)

TABLE 27: 7/0 & 7/6 PREM SPEC
SIZE GLASS PART NO. DESCRIPTION
3/0X7/0| 26X 68 | 30344832 35-3/4" x 83-1/4" S&R Non-Text FIGIz FBGL Dr VistaGrande 26 x 68 Insert 4-3/8" Top White
3/0X7/6| 26X 74 30344932 35-3/4" x 89-1/4" S&R Non-Text FIGIz FBGL Dr VistaGrande 26 x 74 Insert 4-3/8" Top White
3/0X7/0| 26X 68 | 30345032 35-3/4" x 83-1/4" S&R Non-Text FIGIz FBGL Dr VistaGrande 26 x 68 Insert 4-3/8" Top White (CS)
3/0X7/6| 26X 74 | 30345132 35-3/4" x 89-1/4" S&R Non-Text FIGlz FBGL Dr VistaGrande 26 x 74 Insert 4-3/8" Top White (CS)

AMERICAN TEST LAB NORTH
DATE11/30/23
REPORT NO. ATLNC 0504.01-23

Vo iih (ore

ATL INSPECTOR

TLE

VISTA GRANDE SLABS FULL LITE
FINAL ASSEMBLY DETAILS

(ORIGINAL PLCR]
A

TOLERANCESUNLESs ~ FRACTION +1/32°

. DECIMAL 031"
OTHERWISE NOTED ARE:  ,neiE 4 10

&
NTS

REVISION

SHEET DRAWN BY
10 oF 13jlome

SHELT SIZE

171 MASONITE

CONFIDENTIAL PROPERTY OF MASONITE PRINTED DRAWING MAY NOT BE MOST RECENT VERSION

DATE

6/27/2016

B
| A

1020163



atli
0504.01-23


AMERICAN TEST LAB NORTH
DATE11/30/23
REPORT NO. ATLNC 0504.01-23

flei (aren

ATL INSPECTOR

SECTION B-B

POLYURETHANE FOAM
SEALANT

INSULATED GLASS UNI

B
FACING
DETAIL C
[™ VISTA GRANDE SLABS FULL LITE
FINAL ASSEMBLY DETAILS - T
FRACTION £ 1/32" NTS |11 oF 11jlomeo
OTHERWISE NOTED ArE;  DECIMAL 031 Imm e
m M AS o N I T E DRAWING DESIGN AND OTHER DISCLOSURES ARE B 6/27/2016
THE PROPERTY OF MASONITE DOOR CORPORATION.
UNAUTHORIZED USE, MANUFACTURE OR REPRODUCTION A1020163
CONFIDENTIAL PROPERTY OF MASONITE PRINTED DRAWING MAY NOT BE MOST RECENT VERSION {IN WHOLE OR IN PART) IS PROHIBITED.



atli
Oval

atli
Oval

atli
Oval

atli
0504.01-23


THIS SURFACE
TO BE TRIMMED
GROOVE
SEE +1 CAP MATERIAL
DETAILA | 3¢ TOBE
L.l GRADE "A" LVL
N .375 FOR AFL
9.53
R.188 / L_.l_ (6:53]
[R4.76] — .625 FOR MFL
TYP {15.88]
LVL TO BE

REVISION HISTORY
REV DESCRIPTION PCR DRAWN BY DATE APPROVED
E |(10) PART NUMBERS ADDDED. 718 LBH 9/30/20 AAV
F ADDED NOTE 8 940 DB 05/19/2022 AAV
-
L

AMERICAN TEST LAB NORTH
DATE11/30/23
REPORT NO. ATLNC 0504.01-2

NOTE: fw K ( /Wém

. SEE: EMS 306392 FOR WOOD INSPECTION S1 ANUAHUS

" MATERIAL IS FINGER JOINTED OR LAP LVL OR EQUVALENTINSPECTOR

- PARTS ARE UNPAINTED & WITH NO PRESERVATIVE FINISH

GRADE "A" LVL TO MEET "GRADED SURFACE X EXTERIOR"

SPECIFICATION FROM EMS 306392

SYMBOL (C) INDICATES CRITICAL DIMENSION

- DIMENSIONS IN BRACKETS [XX] INDICATE METRIC mm DIMENSIONS

- MILL OPTION TO USE ONE LAYER OF RADIATA PINE VENEER ON FRONT AND BACK.

- ONE END OF THE THICK COMPONENTS (1.593" THICK) TO BE IDENTIFIED WITH
YELLOW COLOR

NGOG PWON =

TITLE

5/4 TOP RAIL
FIBERGLASS - PURCHASED

LEL TO CAP

PART NUMBER DESCRIPTION L TYPE
582202150628.3750 28.375" F] PN RAILTOP 1.573 |39.95] 28.375  [720.73] AFL
582202150628.5940 28.594" FJ PN RAILTOP 1.573 [39.95] 28,594  [726.29] MFL
582202150630.3750 30.375" FJ PN RAIL TOP 1573 139.95] 30.375  [771.53] AFL
582202150630.5940 30.594" FJ PN RAIL TOP 1573 139.95| 30.594  [777.09] MFL
582202150632.3750 32.375" FJ PN RAILTOP 1573 [39.95] 32375  [822.33] AFL
582202150632.5940 32.594" F) PN RAIL TOP 1.573 |39.95] 32.594  [827.89] MFL
582202150633.0310 33.031" F) PN RAILTOP 1.573 [39.95] 33.031 [838.99] AFL
582202150634.3750 34.375" FJ PN RAILTOP 1.573 139.95) 34.375  [873.13] AFL
582202150634.5940 34.594" FJ PN RAILTOP 1.573 |39.95) 34.594  [878.69] MFL
582202150340.5940 40.594" FJ PN RAILTOP 1.573 [39.95] 40.594  [1031.09] | MFL
582202150728.3750 | 28.375" (GEN) FJ PN RAILTOP | 1.593 [40.46) 28.375  |720.73] AFL
582202150728.5940 | 28.594" (GEN) FJ PN RAILTOP | 1.593 |40.46) 28.594  [726.29) MFL
582202150730.3750 | 30.375" (GEN) FJ PN RAILTOP | 1.593 140.46] 30.375  [771.53] AFL
582202150730.5940 | 30.594" (GEN) FJ PN RAILTOP | 1.593 [40.46] 30.594  [777.08] MFL
582202150732.3750 | 32.375" (GEN) FI PN RAILTOP |  1.593 140.46] 32375  [822.33] AFL
582202150732.5940 | 32.594" (GEN) FJ PN RAILTOP | 1.593 [40.46] 32.594  [827.89] MFL
582202150733.0310 | 33.031" (GEN} FIPN RAILTOP | 1.593 140.46] 33.031  [838.99] AFL
582202150734.3750 | 34.375" (GEN] FJPN RAILTOP | 1.593 [40.46] 34.375  [873.13] AFL
582202150734.5940 | 34.594" (GEN) FI PN RAILTOP | 1.593 [40.46] 34.594  [878.69) MFL
582202150740.5940 | 40.594" (GEN] FI PN RAILTOP | 1.593 |40.46] 40.594 [1031.09]| MFL

CONFIDENTIAL PROPERTY OF MASONITE PRINTED DRAWING MAY NOT BE MOST RECENT VERSION

FRACTION # 1/32"
DECIMAL £ .031"
ANGLE + 1°

TOLERANCES UNLESS
OTHERWISE NOTED ARE:

il MASONITE.

C2030367



atli
Oval

atli
0504.01-23


AMERICAN TEST LAB NORTH
DATE11/30/23
REPORT NO. ATLNC 0504.01-23

ATL INSPECTOR

|REV. DESCRIP TION DATE |INIT.| ECN
[REV. o #

417—4 DIM A’ X ]
000 FOR 3/6 WIDTH -
/ - 30.000 (3/6 WIDTH ONLY) \

-
I

.
= ——24.000 (WIDTHS 2/6 THRU 3/0 ONLY) - — -
' 18.000 — -
| 12.000
| . 7.000
‘ REF

‘-— - 3.000 —= *—-—T 1.220

7/ | P
R S S S - | =E
| N~ ‘

17/ ] %\ oA
| 1/4” DIA THRU 3/16" DIA THRU | \.\' FILL HOLE
 VENT HOLE VENT HOLE TYP -/ \
(1) PLACE (TOTAL QTY VARIES) N 2 5/8" LONG
FOR ALL WIDTHS FOAM FLAP

(STAPLED AS SHOWN)

j NEW CONSTRUCTION — STANDARD PATIO SIZE WITH CENTERED IGU |
WIDTH | PART 4 DM 'A" | | WIDTH |  PART # | DIM ‘A’ [IGU WIDTH |

| 2/0 |581902160322.5942370 |22 19/32" | | 2/8 |581902160329.2502370 | 29 1/4" | 20.000 |

| 2/6 | 581902160328.5942370 |28 19/32" | 2/10 | 581902160331.2502370 | 31 1/4" | 22.000

' 2_f‘8‘] 581902160330.5942370 [ 30 19/32" | | 3/0 | 581902160333.2502370 | 33 1/4" 22.000

| ™0 | 581902160332.5942370 |32 19/32" -
3/0 902160334.5942370 | 34 19/32"

I 3/6 1__581_W@32"_

NOTES:

1. MATERIAL IS TO BE COMPOSITE.

2. PARTS ARE TO BE UNPRIMED. TTLE:  VISTAGRANDE / WINSLOW FLUSH GLAZED | e SP%:R;M/MASONITE
3. MAKE FROM PURCHASED COMPONENTS: BOTTOM RAIL (COMPOSITE) MANUFACTURED R —
a) FOR NEW CONSTRUCTION—-STANDARD, REFER TO DRAWING TOLERANCES UNLESS - [RACTION 21/32" | scALE | |IBH 5/25/16
#RWO9—00071. Lo T T ANGLE v HALF ¥ 2 oF 3
b) FOR PATIO SIZE WITH CENTERED IGU, USE NEW m = [DRAWNG DESIGN AND OTHER DISCLOSURES ARE |~ | 2 ¥T
CONSTRUCTION—STANDARD VISTAGRANDE BOTTOM RAILS. | MASONITE. 7 beieifr'sr Wsati oade S056RT6  omamno oeen

DUCTIoN, I\ WoLE ok N PaRT, 15 rrorbies. | C 2030330



atli
Oval

atli
0504.01-23


AMERICAN TEST LAB NORTH
DATE11/30/23
REPORT NO. ATLNC 0504.01-23

Vo (e
r M REVISION HISTORY

ATL INSPECTOR REV DESCRIPTION PCR  |DRAWNBY| DATE APPROVED
(5) PART NUMBERS ADDED.
K SEE SHEET 2. 718 LBH 9/30/20 AAV
1.250 L COLUMN é\ COHRECTEDQ'N 718 LBH 10/26/20 AAV
© [31.75] Z M ADDED NOTE 11 T=940 DB 05/19/2022 AAV

TYP INSIDE -
/
/ TYP

/ S S

830 .015 N\ OUTSIDE .
[21.08+.38] Z
TYP A, L +.020
C o2 o
[t.30]

D —D
R.188
[R4.76] 125 E SEE (DBERTOA?C/ﬁ \
. L 125 020
TYP | T B8 [3.18] T " [0.51]
' KERF | | l

B LvL SEE .
A l NOTE 7 ,— LVL MATERIAL TO | |
; BE PARALLEL

J
i

TO CAP MATERIAL
625 - = DETAIL A
SECTION Z-Z L [15.88] SECTION Z-Z
WITH KERF GRADE "A" LVL WITHOUT KERF

NOTE: GROOVE ONLY

1. SEE SPECIFICATION 306391 FOR W SPECTION STANDARDS

2. ACCEPTABLE MATERIAL IS: LVL WITH GRA nLVL

3. ACCEPTABLE CONSTRUCTION CAN BE: LAP JOINT ERJOINT LVL CONSTRUCTION

4. OUTSIDE GRADE "A" LVL TO BE 5/8" THICK

5. GRADE A LVL TO MEET "GRADED SURFACE X-EXTERIOR" SPECIFICATION FROM EMS 306391 -

6. PARTS ARE UNPAINTED AND WITHOUT PRESERVATIVE FINISH E -

S REL= SEETABLEH IEAFEIIEARIE MFL WOOD STILES FOR FIBERGLASS - PURCHASED

8. SYMBOL (C) INDICATES CRITICAL DIMENSION -

9. DIMENSIONS IN BRACKETS [XX] INDICATE METRIC mm DIMENSIONS TOLERANCES UNLESS  FRACTION 3/32
10. MILL OPTION TO USE ONE LAYER OF RADIATA PINE VENEER ON FRONT AND BACK. OTHERWISE NOTEDARE: _ aNGLE +1°
11. ONE END OF THE THICK COMPONENTS (1.598" THICK) TO BE IDENTIFIED WITH m MASONITE

YELLOW COLOR

CONFIDENTIAL PROPERTY OF MASONITE PRINTED DRAWING MAY NOT BE MOST RECENT VERSION



atli
Oval

atli
0504.01-23


MFL STILES
PART NUMBER DESCRIPTION L A B (REF) KERF| E C D
589601020377.3751181 77.375 Single Ply with LVL Stiles Blnk Hng FJ Pine Edge Band 77.375 [1965.33]| 1.500 [38.10] | 0.875 [22.23] | NO | N/A | 1.578 [40.08] | 0.789 [20.04]
589601020777.3751181 77.375" (Gen) Single Ply with LVL Stiles Blnk Hng FJ Pine Edge Band 77.375 [1965.33]| 1.500 [38.10] | 0.875 [22.23] | NO | N/A | 1.598 [40.59] | 0.799 [20.29]
589601060377.3751181 77.375 Single Ply with LVL Stiles BInk Strk FJ Pine Edge Band 77.375 [1965.33]| 1.875 [47.63] | 1.250 [31.75] | NO | N/A | 1.578 [40.08] | 0.789 [20.04]
589601060777.3751181 77.375" (Gen) Single Ply with LVL Stiles BInk Strk FJ Pine Edge Band 77.375 [1965.33]| 1.875 [47.63] | 1.250 [31.75} | NO | N/A [ 1.598 [40.59] | 0.799 [20.29]
589601060377.3752366 | 77.375 Single Ply with LVL Stiles Bink Strk FJ Pine Edge Band With Foam Kerf | 77.375 [1965.33]| 1.875 [47.63] | 1.250 [31.75} | YES |0.563| 1.550 [39.37} | 0.775 [19.69)
%| 582201010679.562622 79.562 Fj Pn Stiles Blnk OAKCRAFT SIDELITE 79.562 [2020.87]| 1.220 [30.99] | 0.595 [15.11) | NO | N/A | 1.578 [40.08] | 0.789 [20.04]
| 582201010779.562622 79.562" (Gen) Fj Pn Stiles Blnk GAKCRAFT SIDELITE 79.562 [2020.87]] 1.220 [30.99] | 0.595 [15.11] | NO | N/A [ 1.598 [40.59] | 0.799 [20.29]
%| 582201010679.5622368 79.562 Fi Stiles Blnk QAKCRAFT SIDELITE with Foam Kerf 79.562 [2020.87]| 1.220 [30.99) | 0.595 [15.11] | YES |0.375| 1.550 {39.37] | 0.755 [19.18]
589601020379.5621181 79.562 Single Ply with LVL Stiles BInk Hng FJ Pine Edge Band 79.562 [2020.87]f 1.500 [38.10] | 0.875 [22.23] | NO | N/A [ 1.578 (40.08] | 0.789 [20.04]
589601020779.5621181 79.562" {Gen) Single Ply with LVL Stiles BInk Hng FJ Pine Edge Band 79.562 [2020.87]| 1.500 [38.10] | 0.875 [22.23] | NO | N/A | 1.598 [40.59] | 0.799 [20.29]
589601060379.5621181 79.562 Single Ply with LVL Stiles Blnk Strk FJ Pine Edge Band 79.562 [2020.87]| 1.875 [47.63] | 1.250 [31.75] | NO | N/A | 1.578 [40.08] | 0.789 [20.04]
589601060779.5621181 79.562" {Gen) Single Ply with LVL Stiles Bink Strk FJ Pine Edge Band 79.562 [2020.87]| 1.875 [47.63] | 1.250 [31.75] | NO | N/A | 1.598 [40.59] | 0.799 [20.29]
589601060379.5622366 | 79.562 Single Ply with LVL Stiles Bink Strk FJ Pine Edge Band With Foam Kerf | 79.562 [2020.87]| 1.875 [47.63] | 1.250 ([31.75) | YES |0.563| 1.550 {39.37]| 0.775 [19.69]
589601010383.5621181 83.562 Single Ply with LVL Stiles BInk FJ Pine Edge Band 83.562 [2122.47)| 1.875 [47.63] | 1.250 [31.75] | NO | N/A | 1.578 [40.08] | 0.78% [20.04]
582201410693.375619 93.375 FJ Pine Stile BInk Hng End-dado 93.375 [2371.73]] 1.440 [36.58] | 0.815 [20.70] | NO | N/A | 1.578 [40.08] | 0.783 [20.04|
589601010393.3752366|  93.375 Single Ply with LVL Stiles Bink FJ Pine Edge Band With Foam Kerf 93.375 [2371.73]] 1.875 [47.63] | 1.250 [31.75] | YES | 0.563| 1.550 [39.37] | 0.775 [19.69]
% | 582201010695.5622368 95.562 FJ Stiles BInk OAKCRAFT SIDELITE with Foam Kerf 95.562 [2427.27]| 1.220 [30.99] | 0.595 [15.11] | YES | 0.375| 1.550 [39.37] | 0.775 [19.69]
| 582201010695.562622 95.562 F) Stile Bink OAKCRAFT SIDELITE 95.562 [2427.27]f 1.220 [30.99] | 0.595 [15.11) | NO | N/A | 1.578 [40.08] | 0.789 [20.04
589601010395.5622366 95.562 Single Ply with LVL Stiles Bink FJ Pine Edge Band With Foam Kerf 95.562 [2427.27]] 1.875 [47.63] | 1.250 [31.75]) | YES | 0.563| 1.550 [39.37] | 0.775 {19.69]
589601010395.5621181 95.562 Single Ply with LVL Stiles Blnk FJ Pine Edge Band 95.562 [2427.27]| 1.875 [47.63] | 1.250 [31.75) | NO | N/A | 1.578 [40.08] | 0.789 [20.04]
589601010396.5001181 96.500 Single Ply with LVL Stiles BInk Strk Fj Pine Edge Band 96.500 [2451.10)| 1.875 ([47.63] | 1.250 [31.75) | NO | N/A [ 1.578 (40.08] | 0.789 [20.04

* SIDELITE STILES CAN BE FINGER JOINTED PINE CONSTRUCTION.

AMERICAN TEST LAB NORTH
DATE11/30/23
REPORT NO. ATLNC 0504.01-23

TITLE

// -/ / ( /‘Wé o MFL WOOD STILES FOR FIBERGLASS - PURCHASED

TOLERANCES UNLESS
ATL INSPECTOR

FRACTION % 1/32"
DECIMAL +.031"
ANGLE & 1*

OTHERWISE NOTED ARE: DATE

7/26/2016
C2030387

[iil MASONITE

CONFIDENTIAL PROPERTY OF MASONITE PRINTED DRAWING MAY NOT BE MOST RECENT VERSION



atli
0504.01-23


REV. DESCRIPTION DATE INIT.| ECN#
J REVISED LENGTH 10/3/14 | AAV| 9049
& PART NUMBER
K |ADDED 12" PART NUMBER| 3/9/15 |AAV| 9071
L |2 PART NUMBERS ADDED| 9/30/20 | AAY| 718
M ADDED NOTE 3 5/19/22 | AAV| 940
PART # DIM 'L'| DIM 'T’ AMERICAN TEST LAB NORTH
580003200321.0002367| 21" 1.545" DATE11/30/23
580003200312.0002367| 127 1.545" REPORTNO. ATLNS: 0504.01-23
580003200712.0002367| 217 1.565" / Y/
580003200721.0002367| 12 1.565" /T/ M /Wé“
ATL INSPECTOR
L» *1/8"
[+ 3.175mm]
( f
1.000 - ya
[25.4mm)] < -
\ ‘ P -
\ a
NOTE:
1.) SEE EMS 306393 FOR INSPECTION STANDARDS.
2.) SEE EMS 306393 FOR MATERIAL STANDARDS. TITLE: 17 NARROW LOCK BLOCK QRIGINAL | SPEC:
USE OF PARTICLEBOARD IS NOT ALLOWED. PURCHASED o e MASONITE
3.) ONE END OF THE THICK COMPONENTS (1.565” THICK) TOLERANCES UNLESS FRACTION +1/32° | SCALE ?6?09/29/98

TO BE IDENTIFIED WITH YELLOW COLOR.

Ii11 MASONITE.

OTHERWISE NOTED ARE: DECIMAL +.031"
ANGLE +1°

DRAWING DESIGN AND OTHER DISCLOSURES ARE

THE PROPERTY
UNAUTHORIZED

OF MASONITE DOOR CORPORATION.

USE, MANUFACTURE OR REPRO-

DUCTION, IN WHOLE OR IN PART, IS PROHIBITED.

FULL CHECKED

DRAWING NUMBER

RW10-00008



atli
Oval

atli
0504.01-23


AMERICAN TEST LAB NORTH
DATE11/30/23
REPORT NO. ATLNC 0504.01-23

Vo (e

CLOSURE BE AT TOP
ATL INSPEC OF UNIT, SEE NQTE #6
A
!—_ S ﬁ_ jI o
___________ A IE———

|
!
!

i At

7 | (B

SEE NOTE #9 A SECTIO
CONFIDENTIAL PROPERTY OF MASONITE PRINTED DRAWING MAY NOT BE MOST RECENT VERSION

REVISION HISTORY
REV DESCRIPTION PCR DRAWN BY DATE APPROVED
EDITED LEADER TEXT ON
E SHEET 2 1201 DB 10/26/2022 AAV

NOTE:
1. PREMIUM CUSHION EDGE SPACER SHOWN, PREMIUM SUPER SPACER SIMILAR
REFER TO DRAWING C2030627 FOR SPACER DETAILS.

. SECONDARY SEAL MUST NOT EXTEND BEYOND EDGE OF GLASS.

RECTANGULAR LITE SHOWN. DETAIL "B" IS TYPICAL OF ALL SHAPES AND SIDES.

FOR IGU MANUFACTURING, INSPECTION & QUALITY REQUIREMENTS,

REFER TO QUANEX SUPER SPACER INSULATING GLASS MANUFACTURING MANUAL.

CLOSURE MUST BE TIGHT WITH NO GAPS OR VOIDS IN SEALANT.

CLOSURE TO BE LOCATED AT TOP OF THE SEALED UNIT, UNLESS OTHERWISE

SPECIFIED.

SEE SBP-EMS-0001 FOR FLAT GLASS SPECIFICATIONS.

SEE SBP-EMS-0006 FOR FLAT GLASS QUALITY SPECIFICATIONS.

TEMPER LOGOS ON BOTH PANES TO ALIGN IN SAME CORNER,.

10. ALL TEMPERED GLASS MUST COMPLY WITH THE CODES AND STANDARDS LISTED
IN SPEC. #SBP-EMS-0001, SECTION 3.0.

11. ALL TEMPERED GLASS TO BE MARKED WITH LOGO PER
SPEC. # SBP-EMS-0001, SECTION 4.0.

12. IG UNITS TO BE 3RD PARTY CERTIFIED TO ASTM E 2190 "STANDARD SPECIFICATION FOR
INSULATING GLASS UNIT FOR PERFORMANCE AND EVALUATION" AND
BE MARKED PER THEIR INSPECTION AGENCY REQUIREMENTS.

13. IG CERTIFICATION LOGO TO BE SAME CORNER OF IGU AS TEMPERED GLASS LOGO.

14. FOR CONSTRUCTION DETAILS, ACCEPTABLE MATERIALS, QUALITY STANDARDS,
AND PERFORMANCE REQUIREMENTS OF LAMINATED SAFETY GLASS FOR
LAMINATED IGU, REFER TO MASONITE EMS # SBP-EMS-0008.

15. DIMENSIONS IN BRACKETS [XX] INDICATE METRIC mm DIMENSIONS

PN

oo

Lo

16. IGU EDGE SHOULD BE FREE FROM EMBEDDED PIECES OF
GLASS/CARDBOARD/CORK PADS ETC.

" SUPER SPACER INSULATED GLASS UNIT ASSEMBLY

FRACTION + 1/32"
DECIMAL £ 031"
ANGLE+1°

TOLERANCES UNLESS
OTHERWISE NOTED ARE:

[}i1 MASONITE.

A1020319



atli
Oval

atli
0504.01-23


AMERICAN TEST LAB NORTH
DATE11/30/23
REPORT NO. ATLNC 0504.01-23

e g b (e

ATL INSPECTOR -E COATING SURFACE (LOW-E OR LOW-E ARGON IGU)

AIR (CLEAR OR LOW-E IGU)
OR ARGON FILLED ( LOW-E ARGON IGU)
(MINIMUM 90% INITIAL FILL REQUIRED)

- OPTIONADBECORATIVE PANEL
] /‘“*
CLEARORLOW-E T \
LAMINATED GLASS : N
TEMPERED GLASS/ .
CLEAHORLOW-E 1 ] > OPTIONAL DECORATIVE PANEL ' /
' / e CLEAR OR TEXTURED ‘
\ / / TEMPERED GLASS \
500 MAX 7 ! PREMIUM
[12.70] SUPER SPACER
A _ |~ WITH BLACK
Z __ A ACRYLIC ADHESIVE
500 MAX ; 1 \l7
[12.70] PREMIUM SUPER SPACER - Jde”
\ |~ WITH BLAGK ACRYLIC ADHESIVE ! ¢ I A
f— —j "\ QUANEX EDGETHERM 3600
{ ——— ki A X & 032 OR HB FULLER ISOMELT
- — ]. 063 MAX SKEW [+.81] MINIMUM 7/32"
w QUANEX EDGETHERM 3600 [1.60]
X g2 OR HB FULLER ISOMELT M (MANUAL LINE) LAMINATED IGU
: MINIMUM 7/32"
'?66301 BIESA SIEW, 031 MAX SKEW
. .79]
nuaLLingy  STANDARD IGU i DETAIL B
if>7391] SKEW DETAIL B TABLE 2
(AUTO LINE) X W
1.000 | 0.545
TABLE 1
X ~w
——
1000 | 0750 [T~ ™ SUPER SPACER |NSLLAFEOGLASS UNIT ASSEMBLY
0.750 | 0.500
0500 | 0250 e DEOMALL O
B 5/2/2017
I}71 MASONITE T
CONFIDENTIAL PROPERTY OF MASONITE _PRINTED DRAWING MAY NOT BE MOST BECENT VERSION A1020319



atli
Oval

atli
0504.01-23




